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1. Which of the following data-gathering technique is not used in case study ?

(1) Observation (2) Interview
(3) Measurement (4) Personality Inventory
dH Wl § Frafafad § @ H9 @ 22T G B B abeih B IUART 78T
fopar stmar 8 ?
(1) Sraih (2) WRIRHR
(3) "999 (4) =R g=i

2. What is the major attribute of Correlation Analysis ?
(1) Association among variables
(2) Difference among variables
(3) Regression among variables
(4) Variations among variables
qeHee fageisoT H W qor @y B ?
(1) =] & 9191 day
(2) =X & 9= 3
(3) =} B 9T gl
@) =% % 9= frar

3. What is the name of the conceptual framework in which the research is carried out ?

(1) Research hypothesis (2) Synopsis of Research
(3) Research paradigm (4) Research design

39 deRe sf@ H A a1 & R Qe fear s ® 7
(1) ST QR (2) <M B/ R

(3) Smer SR (4) <My S

4. The format of thesis writing is the same as in :
(1) Writing of Seminar, and thesis representation
(2) Preparation of research paper/article
(3) A research dissertation
(4) Presenting a thesis for a workshop/conference paper

Y Taq &1 UeY 981 8 o 5ad o

(1) Mt 1 orEgq, 3T i afafafee

(2) 9N 9 /ARG TIR BT

(3) Tk My ey

(4) P/ T B R iR SR B
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5. What is the main aim of interdisciplinary research ?
(1) To over simplify the problem of research
(2) To bring out the holistic approach to research
(3) To create a new trend in research methodology
(4) To reduce the emphasis on a single subject in the research domain
S smer &1 g IBe @y B 7
(1) <M TR B ARG A S
(2) e % g T gRe®HET B I @
3) My g F wh =5 wgfRy Vs B
4) T &= F 5l u fivw 9 iR w1 ) B R

6. What does a good thesis involve ?

(@) Reducing punctuations as well as grammatical errors to minimalist
(b) Correct reference citations

(¢) Unwell defined abstract

(d) Consistency in the way of thesis writing

Select the answers from the codes given below :

(1) a,cand d (2) b,cand d

(3) a,bandc (4) a,band d

Tk ST A F Far onfae B ?

(v) Foremr @l & Arr-wrr e See Rt @ B q B9
()@ desf I=Ror

(&) eTeaey gfitada g)

()i e & a0 § wRy

9 Rg T et § IR R

(1) g, & IR < 2) &1, & o} &
(3) g, &t I @ @ T, §f IR A
7. The process not needed in experimental research is
(1) Controlling (2) Observation
(3) Reference collection (4) Manipulation and replication
Q@ﬁmagéemﬁmmﬁmamﬂﬁ@fﬁ%qg%:
(1) Freser ) s
(3) de+f wue (4) BB 3R wiferpy
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8. Whpre a null hypothesis is accepted, the observed effects could reasonably be
attributed to :
(1) Differential Treatment
(2) Random Sampling
(3) Chance Factor
(4) Precise Instrumentation

SEl TP I IRFTIT B @R FT Rm o 2, a8t 2@ g wwEr @
TR ®9 § RrATR Se™r S 961 & -

(1) r¥ss Iuar

(2) Tz9 Juieinr

(3) HHEAT HRB

(4) 9% gEgHeN

9. The questionnaire in which sequence of questions is followed is called :
(1) Disguised (2) Undisguised
(4) Un-structured

(3) Structured
g TH "9ST B A H ATEIOT RhAT ST ¥, FeT o @
(1) ==~ (2) Mida=

(3) GXr=a (4) ST

10. The main elements of a dissertation are :
(1) Introduction; significance; Literature review; Data collection; Data analysis;

discussion, recommendations; Conclusions, bibliography.
(2) Executive summary; Literature review; Data gathered; Conclusions; Bibliography.
(3) Introduction, significance, literature review, Research plan; Research data;

Analysis; References.
(4) Introduction; significance; Literature review; Research methods, discussion;

Results; Discussion; Conclusion.

wF e ey % ger O E
(1) 9= Aed 9t @ GHEm oTiehsT |usvT Sl fayer ==, Fawmel

forsepel, Ter =
(2) HEAHR qRILT e B GHle ST Th Bar 1 Fshy e gl |
(3) git=r, Hem, qiec qHier, e IS 9 ST faaser Hev |
(4) aR=; Hed giee @ GHlel STgHuE & adh, @ IR feEr - famsd

fersepet |
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11. The repeated pulling of the Actin over the myosin is often known as the :

(1) Power Stroke
(2) Replacement Mechanism
(3) Ratchet Mechanism

(4) Repeated Mechanism
W%w%%w—m@aﬁﬁmzmmﬁmw% ?
(1) dtax &

(2) wfremas o=

(3) STHE T

(4) ggd o

12. A deductive theory is not that :
(a) Allows theory to emerge out of the data
(b) Involves testing an explicitly defined hypothesis
(c) Allows for findings to feed back into the stock of knowledge
(d) Uses qualitative methods whenever possible
Use the codes given below for correct answer.
(1) a,band c (2) a,candd
(3) a,bandd (4) d,cand b
usp FrTHATESs Risia a8 e ® %
(Q)m@aﬁ@aﬁwﬁmﬁaﬁagqﬁr%m%
(ﬁ)@mw@qﬁwﬁﬁqﬁwquﬁwwﬁa%
() Frepet @ 5TH @ WSR H AH IS BT Bl STFART I B
() /o GHT B YOS TLBT BN ITNT HIAT &
Te IR & fg R RT T fHE w1 FE R

(1) @, & T 4 2) T, €@ AR &
3) T, & X & 4) 31, & olr
13. Data, which are so vital to all kinds of research, are a representation of :
(1) Facts | (2) Processes
(3) Reality (4) Organism
3o, St gl TR H A & [T Ggd "ec@yet ¥, & Rk s §
(1) &= (2) wifshamd
(3) are&iaeneT (4) S
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14.  The sampling method chosen when the members of a special population are difficult to

locate is :

(1) Availability sampling
(2) Purposive sampling
(3) Snowball sampling

(4) Convenient sampling

S fARIS STEE % WIS H g T G ST 8, a9 g T AR
fafer 8 -

(1) IUT=HAT THATHTOT

(2) IBLAYET AHATBIOT

(3) S THARBLOT

4) giasms=e AT

Research focused on determining how education works by testing conclusions related

15.
to theories of communication, learning, performance and technology is :

(1) Theoretical research
(2) Empirical research

(3) Analytical research
(4) Evaluation research

JaR, e, yae o) Senfes & fsial § A& Fepel B 91T S
RET 4 &M &l 2, I8 MuiRa A ) Siwa o 8

(1) Sgifaes

(2) STI¥aST QMEl

(3) FaseisoTHS Qe

(4) gTiehT e

Which of the following test is used when inference is to be drawn ?

(2) t- unpaired test

(4) Analysis of Variance

16.
(1) t- paired test

(3) z-test

frpet P @ fie PrefiRag § & B a0 @1 YT AT S| 8 ?
(1) E-gfaa aderr (2) S-eTgRFa qlrereT

(3) A= (4) fa=reT #1 f&awieer
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17. Correlation is a statistical technique which can show whether or not and how strongly

pairs of variables are :
(1) Separated

(2) Distant

(3) Related

(4) Compared
HEHIY U HiRkAHE aebih S Rer et & b ot ® o7 e oiR Reash

WA H =P IO E -
(1) st T
2) ¥
(3) g
4) g
18. The statistical measure which is generally applied for the determination of sampling
€rTor is :
(1) Variance
(2) Range
(3) Mean
(4) Standard deviation

MWEﬁWWW%ﬁnﬁ%mmmw%g&%:
(1) fa=or
2) 3=
(3) |y
(4) 9 fage
19.  The mean which stands for relative importance of the different items 1S :
(1) Arithmetic mean
(2) Weighted mean
(3) Geometric mean
(4) Harmonic mean

f&fﬁ?qﬁ%vﬁamaﬁ@ﬁwwm%:
(1) STHITOMT |y
(2) HIka Arey
(3) g wme
(4) eI Areg

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(A)



20. The Nth rest of the product of N items or values is :
(1) Arithmetic mean
(2) Weighted mean
(3) Geometric mean
(4) Harmonic mean
N H&i a1 AT & YOHA BT 8461 9 8
(1) ofFTRwRT AT
(2) wHIRT |
(3) SO Hrey
(4) sHifv A
21.  Which of the following methods of data, the investigator contacts third called witnesses
capable of the necessary information ?
(1) Direct personal interview
(2) Indirect oral interview
(3) Observation
(4) Questionnaire

frrefeiRaa & 9 &9 O 3o fAftEt §, oraus TEygs ITHeRl & [T 9|
R g 7T Gl 9 H9sh BT & 7

(1) IcTeT ARKIT R

(2) aTcgeT HIRges GTEATEhI

(3) ITEdIHA

(4) g9TET

22, Which of the following methods is used in empirical researches ?

(1) Inductive Method
(2) Deductive Method
(3) Empirical Method

(4) Scientific Method
arHaSg ey § frfated & & g faftr @ e e o & 2
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23. Which one among the following statements is false in the context of participatory

research ?
(1) It recognizes knowledge as power

(2) Itis a collective process of inquiry
(3) Its sole purpose is the production of knowledge

(4) It emphasizes people as experts
Wﬁ%ﬁﬁ@ﬁma@%aﬁsﬁa%@ﬁﬁmﬂ%?

(l)ﬁaﬁaﬁaﬁ%wﬁmﬂm%
(2)%611?3%@@25%%
(%mw@wwzﬁrw%
(4)%%@%%@%@%@?%%

24. The conclusions/findings of which type of res
situations ? '
(1) Casual Comparative Research
(2) Historical Research
(3) Descriptive Research

(4) Conceptual Research
ﬁmw%aﬁu%mﬁ/@aaﬁmﬁaﬁrﬁ%ﬁmmqﬁﬁm

ST FeRal B 7

(1) THREAH A e

(2) QeI 2

(3) oIS e

(4) HaHea-TeTH el

Who is the first woman awarded a Ph.D. in psychology ?
(I) Melanie Klein

(2) Karen Horney

(3) Anna Freud

(4) Margaret Floy Washburn
e & GeEd § @R gee Afedl B § 7

(1) AT &I
(2) A BT
(3) ST WHIIS
(4) qrRe gl amRrEs
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26. In which research method manipulation of independent variable and control of

27.

28.

extrancous variables are neither possible nor desirable ?
(1) Experiment Method (2) Ex post facto Method
(3) Historical Method

(4) Descriptive Survey Method

FPe oMy g & @ 9% #7 BB ofR 9l O} @ figEer 9 ar gwg ¥

3R 7 & gisg ?
(1) s fafer (2) T e BeEr R
(3) CfEes &y (4) geTS GaeTor fafer

From the following, identify the one which is a theory of management :

(@) The classical theory

(b) The neo-classical theory

(c) The systematic-analytical theory

(d) The modern theory

Use the codes given below for correct answer.
(1) a, band c are correct

(2) a, cand d are correct

(3) a, band d are correct

(4) d, c and b are correct

FrfeiReT & 9 39 U &1 9 HIiSiT S Jeee B [sid 2

(v) smeiT fasid

(=) g-gmreiE s

(&) eafeera-faseooners Rigia

() emyFes Rsia

el IR & e =" Ry 7T K2 H1 53/ w<)
(1) T, <t X &1 91 &

2) T, ¥ 3} & §&l &

(3) w, &t 3R & T &

4) 3, & I} & wdr ¥

In research good hypothesis emerge from :

(1) Discussion (2) Reasoning

(3) Observation (4) Literature search
Qe H o=t gReeaT fhad et 8 7

(1) ==t (2) T

(3) oTa<irET (4) aifeE s

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(A)
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29. The chi-square is one of the most popular statistics because it :
(1) Easy to calculate and interpret
(2) Very useful for novices
(3) Applied in most research
(4) Good for testing hypothesis
BR-TEEX TEH ABBA INikst § § uh & FifP I8 ¢
(1) T AR =A’=AT FE § HAEH 8
(2) Rt B Rig agT swArh B
(3) ferepieT Sier 7 @R R
(4) IRFBTIAT B g1 B @ Sr<vT B

30. Which of the following is no major component of hypothesis ?
(1) Subject group
(2) Treatment or exposure
(3) The control group
(4) The experimental design
FrRiad o @ P 9fReea T & e ueh Y B 7
(1) R a3 |
(2) SUER AT SR
(3) FFr=rT WgE
(4) IR ESE

31. Which of the following is not an advantage of sampling ?

(1) Sampling saves time and money

(2) Sampling cannot be a substitute for census

(3) Sampling saves labour

(4) Sample coverage permits a higher overall level of adequacy than a full
enumeration.

fpfefea & | S99 FHAT A9 B A9 q81 8 ?

(1) 9T A9 & 999 AR o9 B a9 Bl 8

(2) AT FI SO BT e TR ' Hehan

(3) AT A | A B T BN B

(4)@%@Wﬁwﬁﬁwwaﬁwmaﬁaﬁqﬁ
aar
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32. The graphic method of studying dispersion is called :
(1) J curve (2) S curve
(3) Lorenz curve (4) Scatter diagram
UREATYT H AT B WihH AT Beary
(1) S a6 (2) TH @
(3) AR a6 (4) e G

33. How to make the no Conceptual Framework ?

(1) Decide on what will be your research
(2) Review not relevant and updated research on the theme that you decide to work on

after scrutiny of the issue at hand
(3) Isolate the important variables
(4) Generate the conceptual framework
T PR BuaE B TR B ?

(1) T B 6 3T9HT T H=T BFT
(2) 39 fawg aT gl IR o Qi H dHieT wY, B 9X o9 39 PR

P STE B G5 BME B BT FoF a9 &
(3) "E®YCl =X B AT B
(4) FaReE TET IR BT

34. Ultra Microscopic viruses are the main cause of :
(2) Measles

(1) Malaria

(3) Mumps (4) Cholera

arfer ges femo] e geg s €

(1) "aaT (2) '

(3) FHOSHRI (4) B
35. The "Corona" In coronavirus means :

(1) Sun (2) Beer

(3) Crook (4) Crown

BHRAEEE H "HRET" &7 37 8 -

(1) gd (2) 9@

3) elﬁ‘ (4) B3
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36. Which of the following would have the least effect on muscle anaerobic capacity ?
(1) Resting muscle PCr concentration
(2) Resting muscle glycogen concentration
(3) Muscle glycolytic enzyme activity
(4) Muscle buffering capacity
TR @ samEdr aar 9X Fe § @ Reger wwE @Sl H9 BRI 7

(1) TR HA aren FiEaeh ffieT JhsoT
(2) TR B gl AU TARHIST Fb-=0T
(3) Higaeh wEwEied domgd At

(4) AT THIIT AT

37. In a sport such as soccer or rugby, the energy required to restore muscle PCr stores
following a short intense sprint is derived from :

(1) The high-energy phosphate system

(2) Anaerobic glycolysis

(3) The oxidation of muscle glycogen

(4) All of the above
Wwv@éﬁ@aﬁ,ﬁvﬁﬁrﬁ%ﬁ@m@?aﬁmm%m
ammwﬁ@ageﬁaﬁﬁtﬁwﬁf@ﬁﬁwam%:

(1) SE=A-Foll BB TOTRAl

(2) STEEdE AT

(3) TR TAEHS BT SR

(4) SUIh FHI

38. Which of the following would have the least effect on the maximal anaerobic capacity
of a muscle ?
(1) An increase in muscle PCr concentration

(2) An increase in muscle Na+/K + pump capacity
(3) An increase in muscle buffering capacity
(4) An increase in muscle glycogen concentration

Wﬁmmwwﬁwﬁ@%ﬂwwmwm?
(1) AFEaeh TR b=t 7 ghs

(2) ArEaREr 7 g Nat+/K + 99 &0

(3) ArEARMET # BT A H IS

(4) TiEAL TeEEeT whsoT H IE

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(A)
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39. Sprint interval training has been shown to result in :
(1) Decrease in muscle glycogen content
(2) Increases in maximal muscle oxidative enzyme activity
(3) Decrease in maximal muscle glycolytic enzyme activity
(4) Both (2) and (3)
fRsie siaer aRkerer § aRemm RamEr @ § -
(1) #igueh Eee gl o o
(2) eiferp AR SiRISRT detw TR § gk
(3) AfrepaH QM TFDIECH oNEH At F HHI
@) T (2) ol (3)

40. Which of the following training sessions would result in the greatest decrease in muscle

glycogen concentration ?

(1) Four 30-second sprint intervals (total exercise time = 2 minutes)

(2) Six 30-second endurance intervals at 100% VO, max (total exercise time = 3
minutes) '

(3) 4 minutes of continuous exercise at 100% VO, max

(4) 60 minutes of continuous exercise at 75% VO, max

Prefoag & @ Fpg SREET O 3 qRoTEREST wieia IEde disdr |

g offerep HHI AT ?

(1) TR 30-8%s fofe iaae (a1 =™ q9d = 2 fFe)

2) 100% VO, aiftrda (F@ =M §9d = 3 fe) W se 30-9%s HRe
ST

(3) 100% VO, eTftesad u¥ 4 fase @1 MR =™

(4)75%Vozaqf€|25a1=rtrr60ﬁ=1€a€rﬁrw?armrq

41. Progression method can equally be used in teaching the activities except :

(1) Hammer throws
(2) Mass physical training
(3) Dance

(4) Pole vault
W%Wﬁwﬁ%@wwwﬁmﬁmwm%mm:

(1) X %
(2) |Hfes RS SfaTRToT

(3) I3
(4) 9ieT dfee

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(A)
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42. The super compensation cannot effect of training isdueto:
(1) Proper proportion between load and recovery
(2) Directly proportion between load and recovery
(3) Improper proportion between load and recovery
(4) All of the above
X GOTEST SRR H A9E B HROT TE & Heball B :
(1) s 3R Repardl & <= S STgI
(2) e R Rl & Fr e orgaw
(3) W5 oM Repadl B d=r orgRRT I
(4) SUA<H T

43. Overload in sports training relates to when :
(1) The oxygen is adequate to supply the need of the body
(2) The intake of oxygen is insufficient to meet the demand
(3) The oxygen supplying mechanisms are not able to increase

(4) The supply of oxygen is more than required
B uREeT § SMRMR HT e & § 8 ¢

(1) SifeRfieT IR 1 FTEAHAT B G FA H [ IHT 2
(2) SAtFEIST BT Ja9 T B GO B B AT oA B

(3) SAferdIST @ AGRT B @ dx § gha & 8 a1 @l 8
(4) AR @ AYRT STETRAT | 5 2

44. To avoid psychological and physical boredom change the methods of training so that a
plateau is not reached during a training session this refers so the principle of :
(1) Generalization before Specialization
(2) Duration
(3) Variety
(4) Specificity
TS IR e BT & T=m @ e aReer # qiet § aeeE Bl

(1) TAQISET § 9B AHE=iehon
(2) Imafer

(3) fafaerar

(4) Tafareear

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(A)
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45. What .principle of training does this define how often an athlete should exercise per
week in order to get benefits ?
(1) Frequency
(2) Progression Overload
(3) Duration

(4) Intensity '
TRRTOT HT -9 Sia Je gieAd &l & & T 99 & g Th TRl

Bl Ul T<E Al IR A™M AT =@y ?
(1) eTgfa
(2) Wi SRWMR
(3) <1l
(4) <
46. Observation is a method of collecting data of primary source. An important

characteristic of this method is :

(1) Observation is not bias
(2) Interpretation of observed data does not vary from person to person

(3) Individuals observed may change their behavior
(4) Possibility of incomplete observation is not there

Wmﬁ%@ﬁ%mmmaﬁ@ﬁﬁr%lmmaﬁ@

HeEygel s ®

(1) s gaiwe &l 8
(2)@%%@%@@%@@%&%@%%
(3)é@vrqaqﬁ'ﬁaqwzqawaaaﬂzsﬁ%

4) aTgof TR B HHEAT T B

47. Tippit table refers to as :
(1) Table of significance
(2) The table used in sampling methods
(3) The table used in statistical proportion
(4) The table used in scientific statistical method

foftye 29¢ & aKad ©

(1) F&a @l el
(Z)qnﬁmwﬁrfaﬁﬁngfﬁmm

(3) wiferHia TgarT § SgH TR
(4)aa1ﬁasmﬁmﬁaq@%rﬁqgﬁm

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(A)
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48.

49.

50.

A

A quick comparison of the mean and the medium will tell you if 2 distribution of scores

is :
(1) Skewed but to no direction )
(3) Not skewed (4) Skewed an

maaﬁrqﬁmaﬁ@aﬁﬂ@ammw@ﬁﬁﬁwaﬁﬂm%:

(1) forceT @feT ®1 R e () g axE Rret e
(3) feT @ (4)mmamﬁanﬁ

Which of the following statement regarding assumption is not true ?
(a) Assumption relates variables to constants

(b) Assumption relates constants to constants

(c) Assumption relates constants to Variables

(d) Assumption relates variables to variables

Use the codes given below for correct answer -

(1) a,band ¢ (2) a,bandd

(3) b,candd (4) d,aandc
W%ﬁﬁaﬁﬁwﬁiﬁﬁﬁﬁzﬁ?wm&ﬁw:@% ?
(|) seT =) 1 Remi § wefeR B B

() aen ReRi® B Reri & e A 2

(=) ¢ =X B g Reris @ ddfek @

() RO TX FY G 9 Gaite B 8

T SR B g 9 Ru T HE B OAERT B
(I)Q,Eﬁaﬁ'{?ﬁ Q) T, 9 AR

@) &, & o @ @ €, T R

The major objective of a research report is to :

(2) Badly skewed
d to which direction

(1) Enable the researcher to earn a degree

(2) Communicate a set of idea or facts

(3) Proliferate knowledge by publishing it

(4) Stimulate more research on the subject

usp 9y RAE &1 99 3L © -

(1) Serepat ®I B B B H |@em qey
(2) R a1 T % Th 998 H AR B
(3) 39 FHIIC HIDH S Bl THR HIAT

(4) e 93X 31 9T Bt eaed ey
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51. l]));f-mg €Xercise, non-insulin mediated glucose uptake by skeletal muscle is facilitated
(1) A fall in blood insulin concentration
(2) A fall in blood glucose concentration
(3) Increased insertion of GLUT4 receptors in the muscle fibre membrane

(4) Decreased insertion of GLUTA4 receptors in the muscle fibre membrane

A % AR, FHR B A FR A-ggRe @ A a)| qH B
fFe® &RT T ST St ¥ 7

(1) T 2GR T § frmeEe

(2) TH A H Figar § FrEe

(3) WiEULT BEAX Bt # GLUT4 RAwd &1 s)e1 gomm |re

(4) AT BEET Rreell & GLUT4 Riwed &1 w0 afee

52. Skeletal muscles are the target organ of the :
(1) autonomic nervous system
(2) somatic nervous system
(3) sympathetic nervous system
(4) parasympathetic nervous system
(1) @I s o=
(2) efges dfepr o=
(3) fyaafes dfEeeT
@) YofgEies diEee o
53. A typical value for the respiratory exchange ratio at rest 1s :
e § gad R ST w1 OF AR 7 R
(1) 0.58-0.60
(2) 0.68-0.70
(3) 0.78 - 0.80
(4) 0.88-0.90

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(A) P.T.O.
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54.

55.

56.

a7.

Which answers are correct 9 The lactate threshold :

(i) Represents the point at which blood lactate begi-ns
concentrations during exercise of increasing intensity

(ii) Represents the point at which lactate production exceeds lactate clearance
(iii) Occurs at a represent lower power output after endurance eXercise training
(1) ionly (2) iandii

(3) i,ii and iil (4) none is correct

B § oK g8 & ? qEe IS

to accumulate above resting

g1 STl
(iii)éﬁmgﬁm%aﬁms@ﬁwwuﬁrﬁrﬁﬁm%
(1) &as i ) i &R ii
(3) i,ii AR iii (4)a$|s‘=fﬁaé1:1€i%

During the later stages of exercise pulmonary ventilation is matched to the metabolic

demands of the exercise primarily via feedback from :
(1) Mechanoreceptors (2) Nociceptors

(3) Chemoreceptors (4) Photo receptors
w%m%wﬁ%wwaﬁﬁmg@maﬁwﬁrﬁﬂqﬁm

%Mﬁmﬂﬂmﬁﬁ%m%:

(1) FHATAE (2) TfEE=Y

(3) HAMEEX (4) B RE<d

Which of the following shows ATPase activity during muscle contraction 2

(1) Actin (2) Myosin (3) Troponin (4) Tropomyosin

wﬁﬁrﬁ%ﬁw%aﬂﬂﬁwﬁf@ﬁﬁﬁﬁqATPasenﬁﬁ%a%am%?
(1) wfred (2) AR (3) Srnfer (4) SrEEITRA

At touchdown in walking the knee is normally :

(1) Slightly flexed (2) Fully extended

(3) Fully flexed (4) Slightly extended
weEET X G gedT g ®9 § BT B

(1) st T 2) T & 9 fawia
3) gl axe d T (4) AT TgT g

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(A)
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Muscles utilized for controllin
(1) Fussiform muscles ) Unsstri c(elzsmmthin lumen are grouped as :
(3) Straited system 4) Heart Eleuscl:ssc es

AR B §F TBR aeiipa Rear T B - FE B g IR B TH Gl

(1) FFEIBH AR ) fFT e AR

(3) &5 feq (4) T=T B HiEARE!

Technique of ossification of bones of right hand is used to determine :

(1) Height (2) Weight (3) Age (4) Equilibrium ability

sl BT & SRET B iRFRYE N aHie @ MR HE H A sEn
T ST 8
(1) SR (2) T 3) o1 (4) T eHaT

Movements possible in condyloid joint are :

(1) Flexion and extension, planter flexion and dorxi flexion

(2) Circumduction, rotation, hyper flexion and hyper extension
(3) Flexion, extension abduction and adduction

(4) Flexion, extension, abduction adduction and circumduction
Fdlzs o & gwa TRkEl € ¢
(1)%@1%,@%@:@@%
(0) ST, AR, BIEAY TR ST SRR TR
(3) eeieTe, R TSHRE R TR

(4) e, FER, g™ TSHH AR HhTSTI

Which of the following statement is correct about Cerebellum ?

(1) It regulates the muscular movement for locomotion
(2) Itis not a part of brain

(3) Itis a part of spinal and cranial
(4) Trregular the muscular movement for locomotion

ﬁﬁaﬁq%ﬁﬁﬁwﬁr@ﬁﬁﬁﬁ?mwaﬁ%?
(l)ugﬁaﬁﬁ%%rqﬁsﬂﬂﬂ%aﬁﬁﬁﬁﬁm%

(2)uarrﬁaﬁﬁaarqm=|ﬁ% |
(3)qgﬁgaﬁg@aﬁ1mrazﬁrwf€w%
(4)@@?%%&&3%@@@%@31

P.T. O.
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62. A microscopic gap between a pair of adjacent neurons over which nerve impulses pass
when going from one neuron to the next is called :

(1) Neurotransmitter (2) Synapse

(3) Axon (4) Dendrites .
WW@@W%W@Q&WWW@WQ@‘}
STM OX dfSeT STaNT IERa €, I @8l ST 8 -

(1) =pgEEeY 2) Rasr
(3) T 4) SgrEeE
63. What sort of circulatory system is the human circulatory system ?
(1) An open circulatory system (2) A single circulatory system
(3) Both (1) and (2) (4) A double circulatory system
AT IREEROT dF 78 SR T gRE=<er aF 8 7
(1) Tsh Gell HAR oI (2) Weh Tha HAR TOTAl
(3) a1 (1) 2R (2) (4) TH Ay HAX oM
64. In coronary heart discase, what are the fatty deposits on the walls of the arteries called ?
(1) Plaques (2) Platelets
(3) Plasma (4) RBC and WBC
FTE g A H, g @ AR 9% ST J9T H a7 Hel Sl € ?
(1) <Rt (2) wieeH
(3) <ATHT (4) TR AR Sl

65. What is the first structure encountered as blood interacts with a nephron ?
(1) Proximal convoluted tubule
(2) Collecting duct
(3) Glomerulus
(4) Distal convoluted tubule

wh 9B B 9T ATERT B 99T 999 Usd b §XEAT BT gl HIAl
gsar & ?

(1) FHIOET gATEER AT
(2) SFE Fhgl HLAT

(3) TAHGTH

(4) TTET GAMERR FITDI
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The urinary tract consists of which of the following ?

(1) Two bladders, two kidneys, two ureters, one urethra

(2) One bladder, two kidneys, two ureters, one urethra

(3) One bladder, two kidneys, one ureter, two urethras

(4) Cannot be determined without knowing the subject's sex

gﬂwﬁﬁwﬁfﬁﬁﬁﬁ‘ﬁﬁqmm%?
(1) < RE, A, & e, o T
@) o TR, A R, X g, @ T

(3)@Wﬂ,ﬁﬁ,®1am%=ﬁ,an§qﬁ
(4)W%ﬁfﬂaﬁﬁﬁﬁmﬁqiﬁﬁ:ﬁﬁﬁmmm

Which product, secreted by the kidney, helps regulate blood pressure ?
(1) Renin (2) Cortisol
(3) Aldosterone (4) Antidiuretic hormone

aﬁﬁﬁﬁamﬁﬁqﬁm%?

The rabies vaccine :

(1) Isalive vaccine
nd reconstituted prior to administration

2) Iscell cultured, freeze dried a
(3) Isa polysaccharide vaccine derived from culture on human diploid cells

(4) Cannot be given o breast feeding mothers

llowing is not the proved effect of Meditation ?
(2) Normalies blood pressure

(4) Increase cortisol

Which one of the fo
(1) Decrease Stress

(3) Normalies blood sugar
ﬁmﬁr%ﬁﬁﬁﬁﬂmsmmmmqﬁ%?
(l)amazﬁqm% (2) HET B HETT BT B

(&ﬁﬁﬂ%ﬂﬂ%ﬂﬂﬁrm% (4) FIE TorT 8

21
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70. The Pramanas according to Patanjali are :
(a) Anumana (z) ira;)l;la:sha
©) Vikalpa (d) Ag

Use the codes given below for correct answer. i (E) R
(1) a, b, c are correct, (d) is not correct (2) b, a, dar et (b) is TOL I
(3) d, ¢, b are correct, (a) is not correg @) c,d,aare ,
gt B SER THT 9 BN T

(T) ST () s

E SR B g e e T Re @ l .
(1) T, &, & @@ &, (&) s @@ W q,s“r%rérz (g;zgﬂgg

71. If a student studies and practices hard with enjoyment and interest, it is known as :

(1) Emotional engagement (2) Cognitive engagement
(3) Healthy adjustment (4) Behavioral engagement
ﬁﬁémaﬁaﬁrs&r%ammammaﬁtmm%,agﬁ

(1) HAETIHD JSE (2) GSFKHD S
(3) e qHEESH (4) GBS IS

72. When not catching a ball, your hand knows when to grasp because :
(a) Your parasympathetic nervous system is active
(b) Alpha waves are being generated by your brain
(c) Participating muscles receive efferent signals from the brain
(d) Afferent signals inform your hand that the ball is about to make contact
Use the codes given below for correct answer :
(1) a,b, ¢ are correct (2) b, ¢, d are correct
(3) d, ¢, aare correct (4) a,band d are correct
(w) e AR dRw A whh ' '
(d) ot T SID HRETH TR Feq= B oy oy D
() =T A AT AT B AT A o -
() ST T ST e ST
Tl ST R A R e o s g

() T, =1, 91 921 & (2)Eﬁﬁgﬁw%

(3) 1, ®l, T W&l B ORI P NI
PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(A)



A
73. Social criteria of propye
. m ;
(1) Benefit people in genesrzllecnon lays down that the 23
(3) Be original ang unique (2) Add featl?éf lt)lem o o lated st
qIET 99T S —— _— @) Improve exisg researcl?er cap
ey : ﬁg_ﬁﬁa. Ng practices
(1) "™ g mﬁ%mwwﬁmw
ST H T B wrepegg
(3) T AR iy o BLQ) et i F g

74. While defining a problem, the
(1) Study's importance searcher §hould be on determining the
(3) Evidence to be examineq (2) Key issus of the topic

ol THET Ay QR B Wi, (4) Procedures to be adopted

a7 TR - B AN Frefaieg & Fakor o
(1) I=IH BT HEqg
: 2) fawg
(3) ST & Qe 2453411?13‘%61;’%3@31%?%@
75. In science and research "facts" leading to the formulation of theories are regarded as :
(1) Gospel Truths (2) Approximations of truth
(3) Fundamental laws (4) Irrefutable
fasm SR orgea & il @ Faier 3 R omeh qeEt @ A St ®
(1) gE9IEIR |9 (2) | BN ITAN
(3) ARTH B (4) STHIE

76. What is considered foundational to fitness for life and sport ?
(1) Body control and neuromuscular coordination
(2) A body free of genetic defects
(3) Physical and psychological maturity
(4) An intense desire to develop and train muscles

Wﬁ?@ﬂ%%ﬁﬁﬁaﬁﬁwm_mmw%?

(1)meméﬁsﬂw

(2) SR el § g
EEICEIRES

(3) o I} qfaeret
t the Olympics ?

e t race contested a
77. Which is the longest ¢ (2) 10 km race

8’; ;gok(inm\;:lfrace (4) 20 km wa]k?race
aﬁﬁﬁmﬁaﬁaﬁ%mﬁﬁqﬁzm%ﬁ%

5 100(%;23;23?'3 @) 20 fdlt Y@ e

- - P.T.O.
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cks, ice immersion cold

78. Cryokinetics, which include ice massage, ic€ @d CYY?’ pa
whirlpools, commercial gel, chemical packs etc., 15 used :

(1) After an exercise session

(2) Prior to an exercise session

(3) During an exercise session

(4) Between competitive games ) -
PR, REd a A, 9% oK BEI, @W%? 23,
RS ST, TR S onfe enfe & 1 S A ST € L

(1) =™ §9 & 9%
(2) FFH ¥ 9 gsa
(3) FAAH T B IR
4) it |« & =

79. The most effective method to deal with muscle tears and strains is to :
(1) Apply medication at once
(2) Rush the casualty to a physician
(3) Never allow the muscle to get weak
(4) Stop the affected muscle working until recovery
HAARET B ®ed oiR feum ¥ fued &1 g THEl qlhl ¥
(1) T 9] # a1 T
(2) sded B feEs & I | ST
(3) HTEURET B HH HASK T BH &
(4) b BN qH TANGT ATAURMT BT HH HIEAT §& B

80. When an after injury, an athlete continues to limp for some time, it forces him to :
(1) Use the wrong muscles
(2) Exert pressure on the tendons
(3) Tighten the ligaments
(4) Stress the joint involved
T AT B AR, T G Jo T B R e e 2, @ 98 94
g &Ll @ - ’
(1) T AEQR™T BI START
(2) I3 WX &9 ST
(3) EELT I HIAT
(4) NfEcT SIS @l T &7

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(A)
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ich of the following body agtions ¢ i

el an be cited as an action of the second class lever ?
1) Ijsel;;klnlgj% h(::fktlll;:ye (2) Opening of the jaw

3) (4) Pointing the index finger

et & B B amiRe R
o T B 2 F g A dae @ fpar B &9 7 SEI

(1) S HED (2) STE3 BT T

(3) gei " (4) TR @ ZRi e
Muscles that are attached to the skin of the face allow us to :

(1) Chew food well _ (2) Move jaw in various ways
(3) Express our emotions (4) Perform facial movements

3 B @A A I WEORET & sue orgAfy &l €
(1) @1 ST TE T ST () w2 P R aiw d R
(3)m=ﬁmamaﬁa%aq?ﬁm (4) FAeX BT G

Skeletal deformities which lead to a poor posture in sport :

(1) Shoulder, arm and hands (2) Neck, back and pelvis
(3) Knees, elbows and ankles (4) Spine, legs and feet
el B RPRT o A § @RI R B SR A S B

(1) H8, a8 AT ™ (2) &4, die SR =AfT
(3) geq, Pt AR T @) dg, T AR W
According to Gordon Allport, only few people possess :

(1) Cardinal Traits (2) Source traits

(3) Secondary traits (4) Primary traits

A olferare & STFAN, Fae HE AT B I B

(1) FIEAA AT (2) Qi TR

(3) AreatHep IOl (4) s TR

In case of obesity going beyond manageable proportions the last resort will be to :
(1) Strengthen one's willpower to reduce weight

(2) Go in for surgery as therapy

(3) Use weight-reducing medicines

(4) Put stress on physical exercise
ﬁmam&mwaﬁaﬁ%mﬁmwm:
(l)mmmﬁzﬁmfmﬁﬁaﬁm‘eﬁm
(%%rﬁlﬂ%mﬁamﬁwal‘vmm

(3) qor H FA AT @A FT A BT

(4) erifes =@ 9% ST S

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(A) P.T.O.
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86. To which of the following options do individual respondents, focus groups, and pane|g
of respondents belong ?
(1) Primary data sources (2) lspe9ogliagzt§1t2;rzggces
3) Itemi 4 ointe
(3) Itemised datag%ljrces aﬁ’(( ) o7 B A e °§ 9 Eoxst
[apea | deafe € ? 3o G
(1) s 21 @ (2) fai <
(3) WeEa= 2T A 4) s ST

find the variance :
2 &1 TRl S BN
@) 0.12

87. If the probability of hitting an object is 0.8,
e el a&g @ ehae & saehar 0.8

(1) 0.18 (2) 0.16 (3) 0.14
then the correlation coefficient between them

88. If covariance between two variables is 0,
is :

(1) Nothing can be said (2) Negative

(3) Positive “4) 0 :
a = B e qETERer 0 2, oY o9 g geass IOTE T
(1) HB &1 Her ST Fehell (2) ARRTHH
(3) IhRIES @ 0
89. Which of the following is a measure of dispersion ?
(a) Range (b) Standard deviation

(c) Arithmetic mean (d) Variance

Use the codes given below for correct answer :

(1) a, b, c are correct (2) b, c, d are correct
(3) a, b, d are correct (4) d, c, a are correct

fr=feiRaa & @ @19 9i@ger &1 99 8 ?

(@ () " R
(<) ofmforT ATem () fre=or
el IR & T " RT T HE &1 T0T HY
(1) g, , &1 981 € (2) &, =, S wdr B
3) g o, St wé 8 @ =, &, T wdr ¥

90. Which of the following methods of establishing reliability of a test is quiet time scoring 1
(1) Test-retest (2) Split Halves
(3) Analysis of Variance (4) Co-variance
gqqﬁmag?awﬁwwmmﬁﬁwﬁmaﬁﬁﬁqmmm
(1) TE-Gew (2) Rrenfsrr amen
(3) IERT HI fasetsor (4) He-vERoy
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A Hle
ble in a research : .
" I:/Zn V.ana carch study may possibly be measured unless the researcher gives It
thetical basis :
1) A hypo _ (2) Descriptive explanation
3) In?(:;pendent ev;luanon & (4) Operational deIt)'mition
o 2 areqgl ° el IRad B 99 9 5 a® P
2d 2 HGT FET ST "ehall
(1) & BRI HTHT (2) IoIHS ATEAT
(3) T TR (4) TR i
92. Which f’f the following can be no subjects of a research study ?
(1) Objects (2) Events (3) Concepts (4) Humans
ﬁmﬁrﬁ‘sﬁﬁﬁzﬁ?@sﬁﬁmzﬁrﬁwqﬁﬁm%?
(1) TEL (2) g 3) JEueTE (4) 7IH
93. According Fo the prol?ability theory, a sample is nothing but a(n) :
(1) moswe Sampling (2) "Little replica” of the population
(3) Biased Sa_mple (4) "Cluster" sample
T TSl @ STER, Th T A} FE e afeh B
(1) IBAYOT THATHIT (2) ST # "B SR
(3) TETARIT AT (4) "FAERT" T

94. Measures of Central Tendency enable the researcher to :
(1) Compute advance statistics
(2) Compare groups on their performance or particular characteristics
(3) Make realistic inferences from the computed data
(4) Differentiate good from bad
Fra ST & AT SRR Bl T g B
(1) o1 aifeBst @i ToMT HL A
(Z)H@aﬁm%mﬁamﬁﬁqﬁﬁwaﬁwwmﬁ
(%WEBQW%ET@H@WWWET
(4) ored @ g F ofeR HA A

95. Qur common sense tells us that with more variation caused by experimental factors the :

(1) t-ratio will be larger (2) t- ratio will be smaller

(3) f- ratio will be larger (4) f-ratio will be smaller

mwmgﬁm%ﬁsqﬁwm%wmwa

e

(1) S—argur a1 BFN (2) S-3TIIR BIST BRI

(3) TH-SAAT FST BRI (4) TH-IFTAET BT EFTT
PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(A) PT.O
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96. A comprehensive test used to diagnose sleep disorders :
) Polysomnography

(1) Sonomammography
(3) Sonography 4) Manosomnography
ﬁ?ﬁzﬁrﬁ%ﬁtﬁ%ﬁmsﬁqﬁmaﬁaﬂ@wﬂﬁﬁam:
(1) SR (2) TS
(3) T (4) AAEEATH!
97. Name the most valid form of evaluation :
(1) Hunch-based (2) Calculated-guess based
(3) Rational approach based (4) Well-established criteria based
TH&HBT B qad I B HT T TARE -
(1) EF-ameiRa ) qﬁ'ﬂ?ﬁ*ﬁ—ﬂ%‘rﬁ TR
(3) T gftemioT TR (4) oT=dl a¥E d WIUT ATES SR
98. The most direct method for measuring body composition is :
(1) Underwater weighing (2) Skinfold test
(3) Body mass index (4) Weight
QI TIAT B A ) Fed wede a2
(1) 9=t &% w1 goi 2) RepThics <&
(3) IS A1 SS9
99. Survey research is cross-sectional and as a result, it 1s :
(1) High in internal validity but low in reliability
(2) Low in internal validity but high in replicability

(3) Low in ecological validity but high in internal validity
validity but low in external validity

(4) High in ecological
qeqoT ST HIF-GHRTA 8 SN gHS IROMHEET, RES
(1) aHiaRes e & e Qe RAgaa-Edr § &9

(2) ofiaies Jear § &9 Afe sirpa § 3=
(3) aIRfEfyes Sear & H9 ARG AidRS Jeem F I=

(4) uiifeerferes dear & S== dfb G0 e F BH

Which of the following is a criterion for a good research question ?
(1) Questions should be long and use complex terms
(2) Questions should show where my research biases are

(3) Questions should sound contemporary
(4) Questions should connect with established theory and research

uh I8 M N B fw Feefafaa #F @ S 91 geEs ® 7
(I)HSHﬁ%@ﬁm%qaﬁTaﬁﬁmemm%q.
(2) Fg=t H RET =fee B A 9y gatne et §

(3) Wee FHHIN T A8y

(4) we T =i ) o & 92 e =nfew

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(A)
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1. Progression method can equally be used in tcaching the activities except :

(1) Hammer throws

(2) Mass physical training

(3) Dance

(4) Pole vault

Tt & Rerer § st @y &1 q9m w9 F STE A S J6ar 2 FEE
(1) B9 &%

(2) e MRE iR

3) I=

(4) dieT dfee

2. The super compensation cannot effect of training is due to :
(1) Proper proportion between load and recovery
(2) Directly proportion between load and recovery
(3) Improper proportion between load and recovery
(4) All of the above
U GATaST AT H T9E fHHD HROT TE B Fhl B
(1) @rs R Repad @& 9 S argar
(2) @is R Repad & dra dien g
(3) @rE 3R Repadt & &= e STgu
(4) IuA=h G

3. Overload in sports training relates to when :
(1) The oxygen is adequate to supply the need of the body

(2) The intake of oxygen is insufficient to meet the demand

(4) The supply of oxygen is more than required
Ryel AT § SARAR BT day Ha A B
(l)aﬂwﬁaﬁaﬁaﬁaﬂamwaﬁwzsﬁ%ﬁmmé
(2) SATRISH BT Ja= T HY g0 B B R0 g B
(3) SffRgiorF @ o A aw d= A ghs @l & W @ R
(4) SfferfoT @1 YRt arEgaema A Jftn B
PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(B) P.T.O.
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To avoid psychological and physical boredom change the methods of training so that ,
platcau s not reached during a training session this refers so the principle of -

Y Generalization before Specialization

(2) Duration

3 Vanety

) Specificity

/ W
WWWW%WWW 9EAT Al 2, TE ZTH UFT %
T ' Feiiq sy @ -
(1) TESISsaT @ 9= gE=iieor
(2) iy
() iy
(4) o

What principle of training does this define how
week in order to get benefits ?

(1) Frequency
(3) Duration

often an athlete should exercise per

(2) Progression Overload
(4) Intensity

mﬁmwlﬁ-mm%qﬁwﬁam%ﬁsmﬁ%%mw@ﬁm
ﬁmﬁwﬁ;ﬁmmma@q?

(1) sgra (2) SRy atferee

(3) 37atey (4) <frgar

Observation is a method of collecting data of primary source. An important
characteristic of this method is :

(1) Observation is not bias

(2) Interpretation of observed data does not vary from person to person
(3) Individuals observed may change their behavior

(4) Possibility of incomplete observation is not there

UAUT A Wi b s UHA b B UH @ ¥ ozw gmfy @ o

(1) & atge =i 2
(Z)Q@W%ﬁm@wﬁﬁﬁiﬁfmﬁfﬁﬁr%ﬁﬁﬁ%
(3) W T =ARH uHT e gad dhd &

(4) 1ol ST & HwEsT e B
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7. Tippit table refers to as
(1) Table of significance
(2) The table used in sampling methods
(3) The table used in statistical proportion
() The table used in scientific statistical method
e 2aa &1 awad R -
(1) J&@ H qifernt
(2) TLAEHIOT et # wgeh e
(3) FiETHIg g | Sgeh dTierenhr
(4) s wikersHE Tafa o wy<h e

8. A quick comparison of the mean and the medium will tell you if a distribution of scores

1s

(1) Skewed but to no direction (2) Badly skewed

(3) Not skewed (4) Skewed and to which direction

AT R W B T @A el MU Sane 3 F@r SfRt H G ® o
(1) faceT dfed ®Hig &em &l ) gh axE ’Rer e

(3) T =g (4) et R pe am =

9. Which of the following statement regarding assumption is not true ?
(a) Assumption relates variables to constants
(b) Assumption relates constants to constants
(c) Assumption relates constants to Variables
(d) Assumption relates variables to variables
Use the codes given below for correct answer :
(1) a,band c (2) a,bandd
(3) b,candd (4) d,aandc
o & Hew ¥ Fretated § @ B A1 HEE q 6l 8 7
(m) aen =% B ReXie | HEre HIA B
() eron Reri® B ReRi® § delew B
(@)Wm%%ﬁﬁ%ﬂiﬁﬁﬁdﬁa%
() aROM T B T F R B B
e I @ e e Ry T g H AT A
(1) &, & 3T & 2) §, &1 3R &
(3) &, | X 2 (4) 3, T X &
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"’ - ke oo i n
nassage. 10¢ and cryos g ks, iee immersion ¢g)g
4 include 100 TMASSEE -

a0 od
hemical packs € {C.L IS USC

68. Cryvokinctics. whic
\\h‘l(’l]\\‘l\, commervial gel. ¢
(1) After an cxervise session
(2) PrOr 1o an CAEITIse sesmon
(3) Dunng an C\CTUING soas1on

nVe games

B AR Y, a® AE ad) e

(4) Between compett

'v"*v—‘: h ) —~ ﬁ;éra 8o afe omE & # g fea S @7
a T F= . TTET 3

69. Th
Rush thw . Chvsician
Ne b ) gt weak
4 St d work

o untl recovery

3 @ Had wEl e ®

e F wo= v el

70, When ar

77 % UOdE g A4 fEqn @ ST 7BdT B, © 7
4 4 il ) '
) A mrAToTEt w1 g

(2) 2929 U7 zTA|E =TAAT

3) TIEgH &) F7A4]

(4) N AZ #) Ao 2y

PHD/URS-EE-2022/Phy. £du (SET-Y /(1)
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7. Which'uf ‘lhu following body actions can be cited as an action of the second class lever ?
o ”||II‘kI|])1 of the cye (2) Opening of the jaw
(3) Jerking the knce (4) Pointing the index finger
fertferfeact & A fb owhfrn e # fader S e @ Bea B w9 IEA
fopan S A 2 ¢
(1) & BZeh (2) FF2 FHI AT
(3) Het AN (4) R P BT
72. Muscles that are attached to the skin of the face allow us to :
(1) Chew food well (2) Move jaw in various ways
(3) Express our emotions (4) Perform facial movements
FAeY I @H A g qiEAeET B gEE A 9 2
(1) @1 =) aYE FdrRT =l (2) =2 @ i et J e
(3) SAG AEAIAT B A< FHIAT (4) F=T T HIAA
73. Skeletal deformities which lead to a poor posture in sport :
(1) Shoulder, arm and hands (2) Neck, back and pelvis
(3) Knces, clbows and ankles (4) Spine, legs and feet
Fepr & RBR A D F = R H AT A A 2
(1) %9, aie 3 ™ (2) 7=, = AR AP
(3) geA, He iR zEH (4) frz, =im AT T
74. According to Gordon Allport, only few pcople possess :
(1) Cardinal Traits (2) Source traits
(3) Sccondary traits (4) Primary traits
A Sfedld B STAR, B HS A B TH B
(1) FHIET TTRAT (2) A =TT
(3) wTeafHS TRIT (4) wTatHE R
75. In case of obesity going beyond manageable proportions the last resort will be to :
(1) Strengthen one's willpower to reduce weight
(2) Go in for surgery as therapy
(3) Use weight-reducing medicines
(4) Put stress on physical exercise
:ﬁaazgqamﬁqaﬁmﬁaw}aﬁ$mwaﬁa#ﬁqmm:
(1) ao1 @7 A Bl FeBT Ak H JTGT BT
() Fafeear & @ 7 g fafeen $ e S
(3) aorer A T arell Qe B SERT AT
() 2rfifie @ 9 S &9
PHD/URS-EE-2022/(Phy. Edu)(SET-Y)/(B) P.T.O.




76.

78.

79.

80.

B

To which of the following options do individual respondents, focus groups, and pancls
of respondents belong ?

(1) Primary data sources (2) Sccondary data sources

(3) ltemised data sources (4) Pointed data sources

SRET_ITREER. BieE §El oK Imaaett e FeafaRed @ g

e | Tofa ¥ G

(1) Tafys 2@ 9 (Z)W\' 3T AT

(3) Tsew ¥ @9 (4) 9T 3T Aa

If the probability of hitting an object is 0.8, find the variance :

I T SR H THe @ giaear 0.8 R, &l SERer s i

(1 0.18 (2) 0.16 3) 0.14 @ 0.12

If covariance between two variables is 0, then the correlation coefficient between them
1) Nothing can be said

(2) Negative
3) Posi

(S 40
ﬁ%ﬁ%mmoé.ﬁﬂ%&lﬂwﬂgﬁzﬁ%:
(1) ZE =81 F=1 51 =%a1 (2) THRTHB

3) FEES 4)0

Which of the following is a measure of dispersion ?

a) Ran (b) Standard deviation
(d) Variance

n below for correct answer

correct

(2) b, ¢, d are correct

(_4) d, ¢, a are correct

27

(@) = faerer

m T 1 (Z1) fammor

(1) o, &1, 7@ =8 2 2) @1, 1, <1 q& &
(3) @, &1, &1 7 2 @) 21, &, u u& &
Which of the following methods of establishin
(1) Test-retest

(3) Analysis of Variance

T TIAY #] favgAdaqr vafing
qHq =z 7

(1) zre-drEw=

(3) THTOT &H fazeqgoy

2 reliability of 4 eyt i quict time scoring ?
(2) Split Halyes

(4) Co-variunce

AN ot i g T fafer i
(2) faeiseg Hreq

(4) ye Yt{ing

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y /(8
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81.

82.

83.

23
;rlh)c ::)l::s:csdtil::ng of the Actin over the myosin is often known as the :
(2) Replacement Mechanism
(3) Ratchet Mechanism
(4) Repeated Mechanism
W%Wqﬁﬁ%m—wiﬁaﬁaﬁmzmwﬁmw%?
(1) 9 &%
(2) aRreT=
(3) e T
@) TS &=
A deductive theory is not that :
(@) Allows theory to emerge out of the data
() Involves testing an explicitly defined hypothesis
(¢) Allows for findings to feed back into the stock of knowledge
(d) Uses qualitative methods whenever possible
Use the codes given below for correct answer.
(1) a,band ¢ (2) a,candd
(3) a,bandd 4) d,cand b
o s Risia a8 6§ R
(T) fergicr @ o1 @ AT PrbeR @ orgRY 21 @
() % wee w9 § qREE GReEBET B T i &
(&) Prepst 1 T B WER ¥ AW WS F B IR T B
() st i G & eH TOH! BT FA E
w6 SR @ R A R T e F T
(I)Q,Eﬁaﬁ'('{-ﬁ (Z\Q,m(m—(:‘ﬁ
@) u, & R & @ &, & o @
Data, which are so vital to all kinds of research, are a representation of :
(1) Facts @ P“‘CCS:SCS
(3) Reality (€3] Ol‘gnnls‘; - T AR E
%.ﬁaﬁw*aﬁu%%&%ﬁjﬁm‘qﬂ' SR :
(1) Te @) s
(3) e P.T.O.
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85.

86.

B

The sampling method chosen when the members of a special population are difficult to

locate is

(1) Availability sampling

(2) Purposive sampling

(3) Snowball sampling

(4) Convenient sampling

= Rdw @ weEd &1 g @ GREE e ¥, 9 gl T e
&

(1) T T

(2) SEeTTE TLABT

) R AL

4) gleurs=s T

w

)

Rescarch focused on determining how education works by testing conclusions related
1o theories of communication. learning. performance and technology is :

(1) Theoretical research

2) Empirical research

cal research

(4) Evaluation research
#rze, ueve AW UEE# & fHaidl § e eest B aderer s
foTe B4 FR wIA B, ¥ Adiiva #9917 dfed o 8 o

(1) FziA= g

(2) FF=TF o4

(2) fagamm=E og

(4) geatEa o

Which of the following test is used when inference is to be drawn ?
(1) t- paired test (2) t- unpaired test
(3) z-test (4) Analysis of Variance

f:f'zﬁ'i W F far faeAtaigg 4 9 faq THaqop B 3T fzh_ql — 39
(1) F1-gfaa ahe (2) S1-sfrqe oty

(3) AZ-= (4) faaaor a1 fagemor

PHD/URS-EE-2022/(Phy. Edu.)(SE1 “Y)IB)
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89.

25
Correlation is a statistical technique which ¢
pairs of variables arc :
(1) Scparated
(2) Distant
(3) Related
(4) Compared
[EHAY U WABE G B o fewr awed @ R o & oar € ol R
o d W B AR E -
(1) ot
@
(3) Gt
4) gerr
The s.latistical measure which is generally applied for the determination of sampling
error is :
(1) Variance
(2) Range
(3) Mean
(4) Standard deviation
Mwﬁﬁwmﬁ%ﬁuﬁw%ﬁmm%w%aﬁ%:
(1) fererRor
@ W™
(3) A
4) 7 e

The mean which stands for relative importance of the different items is :

an show whether or not and how strongly

(1) Arithmetic mean

(2) Weighted mean

(3) Geometric mean

(4) Harmonic mean
ﬁﬁ?qﬁ%aﬁawﬁwﬁmx@z%:
(1) afepmor e

(2) Wit |TeA

(3) Sunfedia e

(4) st A
P.T.O.

PHD/URS.-EE-2022/(Phy. Edu)SET-Y/(®)
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90.

91.

92.

N e or values is ¢
The Nth rest of the product of N items ot values

(1) Arithmetic mean (2) Weighted mean

(3) Geometric mean (4) Harmonic mean

N 7@ a1 W @ e a1 a9 R

(1) FHTRE Jeg (2) WiRE AT

(3) s W (4) BT T

During exercise. non-insulin mediated glucose uptake by skeletal muscle is facilitateq
by :

(1) A fall in blood insulin concentration

(2) A fall in blood glucose concentration

(3) Increased insertion of GLUTH receptors in the muscle fibre membrane

(4) Decreased insertion of GLUTH4 receptors in the muscle fibre membrane

=T F v, Few @ wEde @ R-IgRe A A a® @ )

(1) 7% 979 tHwa § REe

1 FEa § fREe

(3) =TT e e # GLUT4 Fied &1 ger gan after
(4) =EeT FEET T § GLUTY o &1 &9 aftes

(2) 7<% 9=

Skeletal muscles are the target organ of the :
(1) autonomic nervous system
(2) somatic nervous system
(3) sympathetic nervous system
(4) parasympathetic nervous system
(1) |E= d=7a 79
(2) efee df=mr &9
(3) famrafes @t &=
(4) TofgErEate® dtFw 9o

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(B)
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o Piratory exchange ratio at rest is
(1) 0.58-0.60 m{? .
oy ) 0.68-0.70

(4) 0.88 - 0.90

94.  Which answers are correct ? The lactate threshold :
(i) Represents the point at which blo,

K od lactate begins to accumulate above restin;
concentrations during exercise of i y i

) ncreasing intensity
(ii) Represents the point at which Jact

ate production exceeds lactate clearance

(iii) Occurs at a represent lower power out

(1) ionly

(3) i, ii and iii

BE H I G E ? de Agies

() 39 g @ sfefifa w & fr = aodt dmm S sE S Sk w6
ARET AN Higa H SR T B g &) S @

(i) 37 fg ®1 shffe ww@ & e w dRe TR Aot e @ o

put after endurance exercise training
(2) iandii

(4) none is correct

& o B
(iti) ¥ =T SRR $ 9% B R ST B SRR S S
(1) Pad i () i 3R ii

(3) i,ii 3 iii @) B 0 & T B

95. During the later stages of exercise pulmonary ventilation is matched to the metabolic
demands of the exercise primarily via feedback from :

(1) Mechanoreceptors (2) Nociceptors

(3) Chemoreceptors (4) Photo receptors
W%aﬁ%aﬁ%aﬁmw&%ﬁmg@waﬁwﬁfﬁaﬁmﬁw
3 Tread @ e @ e g A A e

(1) BHRE @) AR
3) FARE @) B Raed

96. Which of the following shows ATPase activity during muscle contraction ?

(2) Myosin (4) Tropomyosin

(3) Troponin

(1) Actin ¥ 4 B ATPase WAl & aifar & ?

) . % aRe frArate

w&m%ﬂ@"‘7) M () S (@) SRR

(1) i @ P.T.O.
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1. The repeated pulling of the Actin over the myosin is often known as the :

(1) Power Stroke
(2) Replacement Mechanism
(3) Ratchet Mechanism
(4) Repeated Mechanism
AT % SR e & IR-aIR e & am: fFes &7 & Ser Sar 8 7
(1) 9fax &b
(2) stfcreITa= G
(3) MU o
@) R
2. A deductive theory is not that :
(a) Allows theory to emerge out of the data
(b) Involves testing an explicitly defined hypothesis
(c) Allows for findings to feed back into the stock of knowledge
(d) Uses qualitative methods whenever possible
Use the codes given below for correct answer.
(1) a,bandc (2) a,cand d
(3) a,bandd (4) d,cand b
s TS RaEia g8 T8 © -
(w) fersir 1 3eT @ AR P @ orgERT e
() o W w9 § IR RGBT HT IheT0T e 2
(<) Fr=pel BT FF ® WSR H G99 WIS HA @ START 34T B
(31) ST 4 GHa BT OB TUDI BT ITART HIAT 8
8l IR & Q" RT TQ R &1 TINT &Y |
(1) g, & IR & 2) g, | 3R &
(3) T, & 3R &1 4) 2, € ok &

Data, which are so vital to all kinds of research, are a representation of :
(1) Facts (2) Processes
(3) Reality (4) Organism

ger, St gl gBR B i B e ggd Heagel ¥, @ wRiRE w ¥
(1) T&7 (2) ufspamg

(3) ar=afaehar (4) shg

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C) P.T.O.



c c

opulation are difficult to 7. Correlation is a statistical technique which can show whether or not and how strongly

ial
chosen when the members of a special P pairs of variables are :

4. The samp]jng method S .
locate is : ((2)) ]s)?ft:rnatte
. .qe lin

€)) Avmlat_nhty san? g (3) Related
(2) Purposive sampl.lﬂg (4) Compared
(3) Snowball sampling HEH Toh RS s & S Rear @t & 5 w7 & oar w8 ok frah
(4) Convenient sampling 3, qg g T TR SeaT § =W B AR F -
W%ﬁqmﬁ%ﬂﬂ?ﬁaﬁ'wa'””'@“ Her %) (1) 3T
fafer ® - @ T

(1) SUTIT ALATDBLT (3) Gt

(2) SEEPET TLAHTT @) ge

(3) TERT TLATB T 8. The statistical measure which is generally applied for the determination of sampling
4) SISECAS LA ] error is :

( gﬁf . ion works by testing conclusions related {5 Viasianee

determining how education
5. Research focused on dete ! : and technology is : (2) Range

to theories of communication, learning, performance (3) Mean

(1) Theoretical research ' (4) Standard deviation

(2) Empirical rescarch Mwﬁaﬁw@%%ﬁw%mmmw%gﬁ%:
(3) Analytical research ((21)) ga( J

i carch i
(4) Evaluation res . = = & e Rrepdt B qferor HEB 35 T
=, . PR HCH TR B M T @) 7% R

9. The mean which stands for relative importance of the different items is :

(1) Ersifces T o
5 o ((21)) ‘?V:itz;];e:c mean
3 e ed mean
3) ﬁsﬁm:ﬂ:ﬂ (3) Geometric mean
(4) FEATH 4) H i
ich of the following test is used when inference is to be drawn 7 éf)ﬁ,—,ranz:—c%m;m;%na e
6. Whic ° P (2) t- unpaired test (1) SiETRR wre .
(1) t- paire (4) Analysis of Variance (2) R #Aew
(AB)Z-ICSt %mﬁqﬁﬁgﬁaamqﬁwzﬁrmﬂmm%? (3) i =
]’ l_;, i_l ' - () S-ergfaa gt 4) =it A
&g (4) Rrerer 1 fasqeT
(3) Ss-Tw PHD/URS-EE-2022/(Phy. Edu.)SET-Y)/(C) P.T.O.
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10.

11.

12.

13.

14.

i values is :
The Nth rest of the product of N items or :
(1) Arithmetic mean (2) Wei ghtl:dc r;f(::;
(3) Geometric mean (4) Harmor

N =St a7 7t & Torhe &1 st A B

(1) Ao AT (2) wia w7
(3) saifEei = (4) BT AT '
her gives it
No variable in a research study may possibly be measured unless the researcher g
o
a/an :

(2) Descriptive explanation

e i (4) Operational definition

3) Independent evaluation
‘(z;; Sﬁ?-TpeaTEI’JH ¥ feelr o
Sierpal g8 el &l -

(1) T am@rﬁ'es IR

(3) T qThT ?
Which of the following can be no subjects of a research study (.4) I
(1) Objects (2) Events (3) Concepts

Fr=faRed &1 & FhaT & ?
§ DT TH MY eI H A i
(1) TEge ! (2) TeTE (3) STEuRETE  (4) #E

: . B
R 'to r-hSc Prolti)::bility fheom® Sang;e ::.irig:ur:il?cl:“aéf )the population
(21’3 l]:ilz?s)::;:m;;zp y (4) "Cluster" :;:;;l% .
(1) SReaget TEABT (i; kil e sRTpiT
(3) gaTgRil STgAT 4) "FTEI
Measures of Central Tendency enable the researcher to :

ute advance statistics . ics
g; (C:grrggme groups on their performance or particular characteris

(3) Make realistic inferences from the computed data

o ; d
Differentiate good from ba -
%ﬂlqﬁﬁmaﬁaﬁﬁaﬁwm%.

il i
(1) a1 affpel @t oM B - N
(2) quEl @ I seRid A AR QE;TW

(3)mﬁaqm§?raamimﬂ’rﬁwéﬁmaﬁ
@) o8 ¥ g H ofk HA

(2) gotHTHS ARAT
(4) aiene= g

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)
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Cc

15.

16.

17.

18.

19.

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)

Our common sense tells us that with more variation caused by experimental factors the -
(1) t- ratio will be larger (2) t- ratio will be smaller

(3) f- ratio will be larger (4) f- ratio will be smaller
mmwﬁm%%mm%mmﬁﬂm%

T -
(D é?—angm EE1) BT o ﬁ—aqaqﬁ Srer S
(4) TH-TUE BreT B

(3) TH-aTgarT TST NI

A comprehensive test used to diagnose sleep disorders :

(1) Sonomammography (2) Polysomnography

(3) Sonography @) Manosomnography
ﬁzﬁwﬁ%ﬁm%ﬁmsﬁmmmw%mmf

Name the most valid form of evaluation :

(1) Hunch-based (2) Calculated-guess based

(3) Rational approach based (4) Well-established criteria based

TEAHT B G AT &9 H 519 gaEy -

1) EF-emenfia (2) IRSBRIT-OTH™ s

() THET FReEHIOT e (4) o= qXE q wRT TrEs emRE

The most direct method for measuring body composition is :
(1) Underwater weighing (2) Skinfold test
(3) Body mass index (4) Weight

I T B A9 B qER wege Ry D -

(1) 9t % S w1 go () Rhies =
(3) 9 7 g2y 4) F=o7

Survey research is cross-sectional and as a result, it is :

(1) High in internal validity but low in reliability

(2) Low in internal validity but high in replicability

(3) Low in ecological validity but high in internal validity

(4) High in ecological validity but low in external validity
aﬁmaﬁétmm—m%aﬁrsﬂ%qﬁwmm,qg%:
(1) SARD Joret F o ey Fygaraeiaar F

() TR Teer F w7 Afe i F 3=
(3)Wﬁwazmﬁm%ﬁﬂaﬁﬁﬁm%umﬁaa
(@W%ﬂmﬁméﬁmmﬁwﬁm

P.T.O.
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arch question ?

20. Which of the following is a criterion for a good rese

(1) Questions should be long and use complex terms

(2) Questions should show where my research biases are
(3) Questions should sound contemporary

(4) Questions should connect with established theory and research
@quﬁ%mﬁmﬁ@ﬁﬁﬁﬁﬂmmﬁ%?
(l)qﬂﬁ%aﬁm%qaﬁimﬁamﬁﬁmmaﬁq

(2)qsﬁa%ﬁ@mm%q%ﬁ%2ﬁugghzaﬁﬁ%

(3) 5IsT GRS @ AT
(4)qﬁwﬁﬁﬁ@ﬁmmﬁ§3aﬁm%q

If a student studies and practices hard with enjoyment and interest, it is known as :

21.
(1) Emotional engagement (2) Cognitive engagement
(3) Healthy adjustment (4) Behavioral engagement
qﬁaﬁémwmsﬁ%mmmmaﬁ?mm%,aﬁgﬁ
gq & § o7 S
(1) AEETHS JST (2) 9sTHEIHES J3E
(3) w@eT gHEENH (4) =AaER® IS

22. When not catching a ball, your hand knows when to grasp because :

(a) Your parasympathetic nervous system is active

(b) Alpha waves are being generated by your brain
(c) Participating muscles receive cfferent signals from the brain

(d) Afferent signals inform your hand that the ball is about to make contact

Use the codes given below for correct answer :
(2) b, ¢, d are correct

(4) a, b and d are correct

2 fb Bg THSTT & Flib :

(1) a, b, c are correct

3) d, c, a are correct

e @1 TS qhsd qHY, IIHI BRI ST
(q)wwﬁrﬁﬁaﬁ%ﬁﬁzﬁrﬁﬂaﬁm%
(ﬁ)maﬁmmmmaﬁm@%
(m)maﬁmﬁwm&mﬁm@mwméﬁ%
(ﬁ)aﬁaﬁmmmaﬁ@ﬁm%ﬁsﬁzwmm%
&1 3% B frg 9 Ry g e H AT B

(1) @, &, & e & @) &, =, <1 |er B

(3) g, &, T a9 & @ T, &t iR & g B

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)
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23. s .
Social criteria of problem selection lays down that the problem to be selected must :

24,

25,

26.

27.

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)

(1) Benefit people in general (2) Add fi
it - eather to research
3) Be ?inazl;nd unique ) (4) Improve existing practi:::sc ®
WTF?T: qaHISTs AeEs FMuiRa s € B ogHen &1 =999 far s
(;)m%m@mﬁwwﬁaaﬁa)sﬁwmﬁd@sﬁ%
3) & offesia o+ (4)r?lvgnmeﬁﬁ‘§€n'(.

(\Y)hléfiu djf:m%ng a problem, the focus of researcher should be on determining the :

o y's importance ‘ (2) Key issues of the topic '
vidence to be examined (4) Procedures to be adopted

et e @1 aRwfta B @m, Muwsal & e PreRirag $ ReRer 9t

@?TEIT%Q:
(1) =97 HT T8 @ R & sge 92
(4) ST ST e s

(3) si=w P Riw gy
Irl - ” " b
(l)sccl;eol;;i :l'nrfu rtc;ssearch facts" leading to the formulation of theories are regarded as :
(3) Fundamental laws 8; Ahil;:(:;:)?;aﬁons eftrh
(ﬁﬁﬁl) aﬂtagvmmﬁ%@ﬁ & Pt & g emoht ‘a=bt @t wrEm o 2 -
G TR 2) 99 w1 SINGIET .
o ﬁl.i?laﬁ 55_ by (4) aTpreH
1 at is considered foundational to fitness for life and s rt ?
(2) Body control and neuromuscular coordination por
2) A b0f1y free of genetic defects
8; Il:hy.swal and psychological maturity

n intense desire to develo i

p and train muscles
W@T@a%mﬁﬁﬁvzﬁrmwww%?
(1) R 9T P ol wrRgash gu=y .
(2) ogEREe St § g s
() MRS MR TS gRgeaar
g;.rrmaf. wﬁﬁmﬁamﬁaﬁr@%aﬂﬁaﬁzﬁaw
b 1;8(;; the longest race contested at the Olympics ?
m race :

3) §O km'walk race 8; ;g kk$ \r::lek
aﬁaﬁisl ﬁmw%m%mmﬁm%;me
(1) 1000 #Hiex &5 @) 10 Ff Ars
(3) 50 Rt Fawr Qs @) 20 Rt Yo Az

P.T.O.



28.

29.

30.

Cc

Cryokinetics, which include ice massage, ice and cryo- packs, ice 1mmersion cold

whirlpools, commercial gel, chemical packs etc., is used :

(1) After an exercise session

(2) Prior to an exercise session

(3) During an exercise session

(4) Between competitive games
mﬁﬁwmﬁﬁmﬂﬁrm—%ﬂﬁwwﬁw
R S, TEERS 9 ST N ¥ 1 SENT Rpr St ® 7
(1) = 85 B 9%

() =mEm ' | 9B

(3) =AW ¥ & SR

(4) afrerlt St & 9=

The most effective method to deal with muscle tears and strains is to :
(1) Apply medication at once

(2) Rush the casualty to a physician

(3) Never allow the muscle to get weak

(4) Stop the affected muscle working until recovery

HEARMET B hed ofR Rdum @ el &1 gad TR Tl B ¢
(1) Th 9] F zar T

(2) =ated HI Rfees & 9= A ST

(3) HTTARAT B B FASIK T BN &

@) 1 B T T HIGARET BT HHE HAT 98 BL

When an after injury, an athlete continues to limp for some time, it forces him to :
(1) Use the wrong muscles

(2) Exert pressure on the tendons

(3) Tighten the ligaments

(4) Stress the joint involved

59 TH de B 9%, TFH UHee BB 999 B QST G 8, aF 9 S9
TSGR T 8 -

(1) TTera AiAfRmET &1 JarT

(2) 99 W &G ST

(3) T H HAT

@) e S H aE &

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)

31.

32.

33.
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tl));f‘mg exercise, non-insulin mediated glucose uptake by skeletal muscle is facilitated
(1) A fall in blood insulin concentration

(2) A fall in blood glucose concentration

(3) Increased insertion of GLUT4 réceptors in the muscle fibre membrane
g;:;ecr%eagi:sen.ion of GLUT4 receptors in the muscle fibre membrane

(1) =5 g wopmmr § Frmae

(2) T BT H Fisar § e
(3)#iaﬁsﬁw%rwﬁﬁGLUT4&éqﬁzﬁrwgawHﬁqm
(@W&sﬁwﬁﬁﬁﬁGLUﬂﬁﬁQﬁm#;ﬁam

Skeletal muscles are the target organ of the :
(1) autonomic nervous system

(2) somatic nervous system

(3) sympathetic nervous system

(4) parasympathetic nervous system

HHN MET o a7 ¥

(1) @I <

(2) ¥ <frmr o

() Rraafess v ds

@) ARrAAReE e Gx

A typical value for the respiratory exchange ratio at rest is :
T # sewe R STIU HT T Qi 7 R -
(1) 0.58 - 0.60

(2) 0.68-0.70

(3) 0.78-0.80

(4) 0.88-0.90

P.T.O.



Cc
10 t_hI‘eShOId : .
: ct? The lactate : accumulate above resting
34. Which answers are cor'ret at which blood lactate begl_r:; to
i esents the poin - : sing intenst
(i) Repr during exercise of incred g -on exceeds lactate clearance

oduct

concentrations
after endurance €

i ise trainin,
(ii) Represents the pol xercise g

nt at which lactate pr
wer output

(iii) Occurs at 2 represent lower po ) iandii
(1) ionly (4) none is correct

(3) i, i and iii .
mﬁwﬁ%?maﬁ?mﬂmm%miaﬁmw

(ii)a-aféigﬂqﬁ’lﬁmﬁ
& S WWWWWWW%
(2) i SR ii
@) B 0 T R

ary ventilation is matched to the metabolic

(iii) & =ATATT SR E
(1) & i

(3) i,ii R iii

During the later stages of exercise pulmon

demands of the exercise primarily via feedback from :
(2) Nociceptors

(4) Photo receptors

W%ﬁﬁaﬁg@maﬁmﬁﬁﬁgﬁﬁw

35.

(1) Mechanoreceptors
(3) Chemoreceptors

= & 9% B GO B ARE

%m&wﬁwﬁmlﬁ’ﬁ@ﬁa@m%:
(1) FFAREE (2) TRFE=
(3) BARE=I @) wer Raed

Which of the following shows ATPase activity during muscle contraction ?

36. )
(1) Actin (2) Myosin (3) Troponin (4) Tropomyosin ,
mwamﬁq%amﬁwﬁmaﬁa@qmpasemmaﬁaﬁm% ~
(1) afFes (2) wTATEA (3) g @) S

37. At touchdown in walking the knee is normally :

(1) Slightly flexed (2) Fully extended .

(3) Fully flexed (4) Slightly extended
TgeTed UX g H gl MY ®9 | 8T ©

(1) &rsT ST @ T wE J ReaRa
3) g axe | (4)@@3@1@“

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)

38.

39.

40.

41.

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)
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Muscles utilized for controlling the flow of all substances within lumen are grouped as :
(1) Fussiform muscles (2) Unstriped muscles

(3) Straited system (4) Heart muscles
AT B Hax G et B gare B FER s P R ST @ S| gl

AR B g SHR gk R

(1) wgEw FieafRE (2) RFT afieR ARt

() &= Ryeew 4) &=9 FH AEARE

Technique of ossification of bones of right hand is used to determine :

(1) Height (2) Weight 3) Age (4) Equilibrium ability

TR sy 9 =fRAT B Siffbde™ & qHie & MAURCT HEH B T SERT
fopaT ST ® :
1) Sai (3) &g

Movements possible in condyloid joint are :

(1) Flexion and extension, planter flexion and dorxi flexion

(2) Circumduction, rotation, hyper flexion and hyper extension
(3) Flexion, extension abduction and adduction

(4) Flexion, extension, abduction adduction and circumduction
Hisdlzs siis # v et € -

(1) TR IR R, <ieX weeT oI SRl s
(2) TSR, A, BRI FIFET N SFIT TFRIEIT
(3) S, FR g ofR wsae

(@) e, FER, TewE tswRE ol gRuseR

Which of the following is not an advantage of sampling ?

(1) Sampling saves time and money

(2) Sampling cannot be a substitute for census

(3) Sampling saves labour

(4) Sample coverage permits a higher overall level of adequacy than a full
enumeration.

Frafafed & @ B a1 wem a3 @ @ g 2 v

(1) T @9 & 99 ok =9 @ g=g o

(2) AT FIT SO T Reheq TEF &) qaar

() T A | =T B guq S 2

(@gﬂmgﬁma&wﬁmwwaﬁmaﬂm

@) = (4) Hge aTa

P.T.O.
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i ion is called :
42. The graphic method of studying dispersion 18 €

43.

44,

(2) Scurve

(1) Jcurve (4) Scatter diagram

(3) Lorenz curve .
aRATeT & o @ Wit At e

@ (2) T8 I
Ll b

9
How to make the no Conceptual Framework ?

- .
on hat 111 be your reseaICh
(1) DeCIdc W W
(2) I{e view not Ielevaﬂt a]ld updated I'eseaICh on the ﬂleﬂ]e t-hat you dCCIde to W()[k on

after scrutiny of the issue at hand
(3) Isolate the important variables
(4) Generate the conceptual framework
A g B FY T ¥ ?
(1) 7 B¢ 6 w4 BT

Z)Wiﬁwwmaﬁ?awaﬁuaﬁwﬁwaﬁ,mﬂmmgé
( & e @ 9% HE B B FOE A E

(3):13@10?%1“{21%31@11#
(4) FefRep e TR BT

Ultra Microscopic viruses are the main cause of :

(1) Malaria (2) Measles
(3) Mumps (4) Cholera
oty gew Ry fras ged HRT E

(1) =T (2) T\
(3) HOSHART @) B=m

45. The "Corona" In coronavirus means :

(1) Sun (2) Beer
(3) Crook (4) Crown
FREEEE J "HRET B Int B -

OO @) frx
3) o (4) e

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)

46.

47.

Which of the following would have the least effect
€))] Resting muscle PCr concentration

(2) Resting muscle glycogen concentration

(3) Muscle glycolytic enzyme activity

(4) Muscle buffering capacity

WﬁﬁaﬁamaﬁumwﬁwﬁﬁmmaaﬁmaﬁW?
(l)mzﬁﬁaﬁmﬂﬁtﬁﬁmw

(2) SIRFT HTF ATl A TAHITT Hesror

(3) AN TeEHERed denen Wy

4) AFM qHiET aqEar

on muscle anaerobic capacity ?

In a sport such as soccer or rugby, the energy required to restore muscle PCr stores
following a short intense sprint is derived from :

(1) The high-energy phosphate system
(2) Anaerobic glycolysis

(3) The oxidation of muscle glycogen
(4) All of the above

B A T S Qa F, waREt B ek w6 @y
SRS St b g Ay foste Frefoe & s 2 2 -
(1) S=1-Fnit B gormh

(2) ST EEmRaRT

() wTEAh TR B StEfwTr

(4) ST |+

Which of the followin
of a muscle ?

g8l B B RIT

g would have the least effect on the maximal anaerobic capacity

(1) An increase in muscle PCr concentration

(2) Anincrease in muscle Na+/K + pump capacity

(3) An increase in muscle buffering capacity

(4) An increase in muscle glycogen concentration
AR B sfmaT s amar 9X R & @
(1) wieasht ST Gdsor gix

(2) 7A@ F gRE Na+/K + 9 emar

@) WEIRE B THRT ey F gfs

(@) AT B oy § g

e e e B g ?

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)
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49.

50.

51.

resultin:
Sprint interval training has been shown to

le glycogen content
oxidativ -
glycolytic enzyme activity

(1) Decrease in musc - enayme ity
(2) Increases in maximal muscle

(3) Decrease in maximal muscle
4) Both (2) and (3) :
;%s)iz it SR 3 afReT Rt T 2
(1) AiEaeh BT el # asﬁ’r ool
(2) atferepa AEaLl aifrsfed q@ﬂ%ﬂ =|iaiai¢|ﬁ —
(3) o A TgEieDh ToTRT QRIS
@) 2t (2) 3R (3)
Which of the following training sessio
lycogen concentration ? o
flj)lcF(g)ur 30-second sprint intervals (total exercise tim
(2) Six 30-second endurance intervals at 100% VO,
minutes)
(3) 4 minutes of continuous exercise at 100% VO, max
i i i VO, max
4) 60 utes of continuous exercise at 75% . . 5
%ﬁ%ﬁmq&ww%qﬁmﬂwﬁmm@mm
qaq oIt HHl T ? : )
1) =) 30-@s T s (G aEm @9 = 2 e .
Ezzlm%vogmﬁq(ﬁ—dww=3ﬁqz)q—<3—br30_aq,—ggj1—(a
' -
3) 1m%vozmw4mwmw
(@) 75% VO, 3ifeeptd X 60 fFe %1 Fay =™

¢ would result in the greatest decrease in muscle
n

e = 2 minutes)
max (total exercise time = 3

; . . S
Which of the following methods of data, the investigator contacts third called witnesse
capable of the necessary information ?

(1) Direct personal interview (2) Indirect oral interview

(3) Observation (4) Questionnaire

frafafed & @ 9 @ 3o ARGl §, o ve omayas SH B e 98
o} gaTe T ARl § H9EH B B ?

(1) ST AR TRIEHR 2) R NRas ARIHR

(3) srEeHT (4) a=TEeh

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)
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53.
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Which of the following methods is used in empirical researches ?

"~ (1) Inductive Method

(2) Deductive Method

(3) Empirical Method

(4) Scientific Method

TFHaST e F Fr=faRaa § @ fBpa Ry &1 sug fear T 2
(1) ermH=TRHs fafey

(2) TS fafy

(3) srgHasT= Aty

4) dsnfwes fafer

Which one among the following statements is false in the context of participatory
research ?

(1) It recognizes knowledge as power

(2) Itis a collective process of inquiry

(3) Its sole purpose is the production of knowledge

(4) It emphasizes people as experts

FrefaRaa & & 2 @1 B9 deurh sy & g F orgm B ?

() a8 59 %1 9 $ &9 F gegEar 2

(2) g it 3 o GRS kT

Q) THHT THAH IBT TH BT IAET

(@) 7' Fl B RAASET B w7 F A qr

The conclusions/findings of which type of research cannot be generalized to other
situations ?

(1) Casual Comparative Research

(2) Historical Research

(3) Descriptive Research

(4) Conceptual Research

ﬁmw%sﬁu%ﬁ&s&@aaﬁmfwﬁfﬁ%mmﬁm
ST |haT B ?

(1) TR g sy
(2) CRETRI® Sy

(3) av T sy

(4) HHea-ITeHes STy

P.T.O.
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55.

56.

57.

Who is the first woman awarded a Ph.D. in psychology ?

(1) Melanie Klein (2) Karen Horney

(3) Anna Freud (4) Margaret Floy Washburn
e dead @ et ged A HE 8 7

(1) A /A= @) FT &
(3) T %ES (4) AFRE o R

In which research method manipulation of independent variable and control of
extraneous variables are neither possible nor desirable ?

(1) Experiment Method (2) Ex post facto Method

(3) Historical Method (4) Descriptive Survey Method

Req ol TRy F @ WX B0 2T IR Al =X &1 P T €9 ¥
ok 1 & gis ?

(1) s=vT f&fy (2) T URe Seel fafy

(3) Cfvrefées fafer @) goiFTH®s |aeToer fary

From the following, identify the one which is a theory of management :
(a) The classical theory

(b) The neo-classical theory

(c) The systematic-analytical theory

(d) The modern theory

Use the codes given below for correct answer.

(1) a, b and c are correct

(2) a, c and d are correct

(3) a, b and d are correct

(4) d, c and b are correct

frfafea & & 39 o @ JeaN HIRT St gdET H Rsia @
(v) s fassia

(&) FEa-emeE fsid

(1) =gafem-fasasonems s

(31) oMy i

FEl IR B fQ A= R T e w1 oaan 530

(1) T, 91 3R &1 &8 &

(2) ©, €1 IR & 9 &

(3) T, 91 3T} <1 wer

@) <1, & o &t wd ¥

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)
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58. In research good hypothesis emerge from :
(1) Discussion (2) Reasoning
;ﬁ%)u Observation (4) Literature search
H T IR R Pt @ 2
(1) ==t () T
(3) omaeHT 4) qieE @St

59. The chi-square is one of the most popular statistics because it :
(1) Easy to calculate and interpret
(2) Very useful for novices
(3) Applied in most research
(4) Good for testing hypothesis
PE-ERER TG AHEE okt § & uh 2 6 g
(1) T IR =T HE ¥ oot
@) NMaferdt B Rrw T v 2
(3) rrepisT Tt F @y B
(4) IRHTTAT B THEIOT B T ST B

60. Which of the following is no major component of hypothesis ?
(1) Subject group
(2) Treatment or exposure
(3) The control group
(4) The experimental design

Frfafad & & S aRecw &1 sqe gk 78 & ?

(1) = a8
(2) STEIR a1 SifEs
(3) FE=©T 9
@) uaReE fEemg
61. Progression method can equally be used in teaching the activities except :

(1) Hammer throws (2) Mass physical training
(3) Dance (4) Pole vault
TafafeEt & Reer & iRy Y & @9 ®9 /@ S9E fear ST g @ REE
(1) 3R ®&H (2) wrIfes RS wfkwer
3) T ORI LS

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C) P.T.O.
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62.

63.

64.

ining is due to :
The super compensation cannot effect of training

(1) Proper proportion between load and recovery
(2) Directly proportion between load and rf:covery
(3) Improper proportion between load and recovery
4) All of the above :
%;g;mmwmmm%waﬁam%
(1) Trs o Repad & & Sferd STFIA

(2) @5 IR Repad & = den JgI

(3) s oik Repad 3 da orgfem AN

4) IWRF g

Overload in sports training relates to when :

(1) The oxygen is adequate to supply the need of the body

(2) The intake of oxygen is insufficient to meet the der‘nand

(3) The oxygen supplying mechanisms are not able to increase

(4) The supply of oxygen is more than required

S AREeT § AtER B qaY w9 d B

(1) SR QIO @ STELFHAT B I B & [T A< §
(2) SATRIIST I Fa< HT B I HH B [ AT 2

(3) SiFRiST # oMgRf HA a 7 7 ghs =& & a1 WX B
(4) SATFAIS B AYRT STETHAT & 3TfeH B

To avoid psychological and physical boredom change the methods of training so that a
plateau is not reached during a training session this refers so the principle of :

(1) Generalization before Specialization

(2) Duration

(3) Variety

(4) Specificity

ARSI S TRG $T ¥ a9 B R oRE©T B qfe § qead
mﬁswﬁmm%%mmqﬁq@wﬁ,%wm
fosia #1 Hei¥a &t B -

(1) TS | ged qE=iHIor
(2) eafy

(3) Tafaeren

(4) AfRrsear

&
Ed

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)
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65. What principle of training do

66.

67.

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)
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; es this define how often an athlete should exercise per
week in order to get benefits 2

(1) Frequency

(2) Progression Overload

(3) Duration

(4) Intensity
Ww%—mm%qﬁmﬁam%ﬁswﬁ%mwm
& AR T et AR @ e ey ?

(1) ey

(2) T SRR

(3) ety

(4) <erarn

Observation is a method of collecting
characteristic of this method is :

(1) Observation is not bias

(2) Interpretation of observed data does not vary from person to person

(3) Individuals observed may change their behavior

(4) Possibility of incomplete observation is not there
Wmm%mwmﬁ@%%uwmaﬁ@
Hemget fasear @ -

(1) s qafre =& &

(2) 39 W 3T W AT T ARG ¥ TEX ARG F = S A 2

() 3@ W ARF AIT FIER TET GHT T

(4) STgeT STaciR @ HHEET AEY &

Tippit table refers to as :

(1) Table of significance

(2) The table used in sampling methods

(3) The table used in statistical proportion

(4) The table used in scientific statistical method
fefe 2qa &1 arad 2 :

(1) #e & aiferent

(2) TgFERReT fafREt & wges anfern

(3) Hiea®m™ TP H FYTh aIerehT

(4) Asiwe wieE TEfy § vy Qi

data of primary source. An important

P.T.O.
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20 d the medium will tell you if 2 distribution of scoreg
i i f the mean 4
68. A quick comparison o

is: . (2) Badly skewed - irection
(1) Skewed but to no direction o chewed and f0 whic 'lre :
(3) Not skewed 5 Ry T S o :

o (2 g TE foresT BIFT

o e R=m #

g assumptlon l.S not true .;

Which of the following statement regardin,
tes variables to constants
stants

69.
(a) Assumption rela
(b) Assumption relates constants to con

(c) Assumption relates constants to Variables
(d) Assumption relates variables to variables

Use the codes given below for correct answer -
(1) a,bandc (2) a,bandd
4) d,aandc

(3) b,candd
aReT B e § Prefred § @ $ a1 HuT a6 E 7

(q)mmﬁﬁaﬁ%ﬁaﬁfﬁﬁaﬂ?ﬁ%

() en Reri® @ Rexis @ AR B 2

(=) aRoT =X B g Reris | e 8

(£1) grom =X B T F FERA FHEl ©

e IR B R A= Re g Fe B owE AT

(1) T, &t R & () g, &t ik &
@) @, | &R & @ 1, T olr

70. The major objective of a research report is to :
(1) Enable the researcher to earn a degrec
(2) Communicate a set of idea or facts
(3) Proliferate knowledge by publishing it
(4) Stimulate more research on the subject
Th M ROIE 1 g 32y 2
(1) Qﬁmaﬁ%ﬁmmﬁﬁmm
(Z)Wmﬁ&ﬁ%@wmwm
(3) SH THRT HBH T FT T6R ey
(4) B 93 e ol Y e gy

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)
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Which of the following statement is correct about Cerebellum ?
(1) It regulates the muscular movement for locomotion

(2) Itis not a part of brain

(3) Itis a part of spinal and cranial

(4) Irregular the muscular movement for locomotion

aRaeH B IR 7 Fre=faRaa @ S 91 wua 96 ® ?

(1) I8 Haa9 B 1w AT a1y o P @ @

(2) 9= ARash BT 9FT &7 8

3) g O3 & & IR HURT &1 TH BT 2

4) g B R 9Lt oif 1 sifvafa S

A microscopic gap between a pair of adjacent neurons over which nerve impulses pass
when going from one neuron to the next is called :

(1) Neurotransmitter (2) Synapse
(3) Axon (4) Dendrites

STE~ A~ Hl Th Sgl & &g Th Per ax 9 98 o =RE § gax |
ST 9X ST STERT oRA &, S8 Hel ST 8 -

(1) FAgiEHeY ) B
3) T 4) SgEH

What sort of circulatory system is the human circulatory system ?
(2) A single circulatory system

(1) An open circulatory system
(4) A double circulatory system

(3) Both (1) and (2)
AMT 9RE=EROT 5 S 9 HT 9iRkEeRer oF & ?

(1) T Geil HER SoTed (2) TH THA HIAR HOTRAT

(3) &= (1) o (2) (4) TH s R TOTRR

In coronary heart disease, what are the fatty deposits on the walls of the arteries called ?
(1) Plaques (2) Platelets

(3) Plasma (4) RBC and WBC

PR e AT H, Tt SRt O THT 99T B F=9r wer onay D7

(1) e ' (2) <resied

(3) < @) RN IR sy

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)



22

75. What is the first structure encountered as

76.

78.

blood interacts with a nephron ?

2) Collecting duct

(3) Glomerulus (4) Distal convoluted -tubule

6 IBE B G ciafE wRq G Gad Ted fHH FIEAT DA B

ggar & ?
(1) w¥fioey ga@er ARw@®! (2) 37 Fhel BTN
(3) TAsTy (4) GXET PAERR AT

The urinary tract consists of which of the following ?

(1) Two bladders, two kidneys, two ureters, one urethra

(2) One bladder, two kidneys, two ureters, one urethra

(3) One bladder, two kidneys, one ureter, two urethras

(4) Cannot be determined without knowing the subject's sex
g o § Freiiied § @ # a1 e 8 ?

(1) & gARmE, @ I8, & gHared, b EEE

(2) T TEARE, & R, A JEared, T gHEr

(3) s AWM, A IS, TH gIANe], & AR
@) e & T &1 9= faar FuaiRa 7€ A s oasan

Which product, secreted by the kidney, helps regulate blood pressure ?

(1) Renin (2) Cortisol

(3) Aldosterone (4) Antidiuretic hormone

frsl aR1 |ifeT HF |1 I THAT B AR HA T A BT & ?
(1) = () »ifa™

(3) TR @) EerRRies M

The rabies vaccine :

(1) Is alive vaccine

(2) Is cell cultured, freeze dried and reconstituted prior to administration

(3) Is a polysaccharide vaccine derived from culture on human diploid cells

(4) Cannot be given to breast feeding mothers

ST BT e

(1) @ Shfaa e 2

() 1 G GHPT, HT S &R BT A wed gifoq far onar B
(3)W@ghmaaﬁmaﬁwwﬁmwwﬁ@maw%
(4)Wm%maﬁwaﬁa%ﬁ%mmmg

(1) Proximal convoluted tubule

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)
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(1) Decrease stress
(3) Normalies blood sugar
e & § @9 q1 o

(2) Normalies blood pressure
(4) Increase cortisol
1 R s e 2 2
@) THE B T Far @
@) BT agmr 2
The Pramanas according to Patanjalj are :
(a) Anumana ‘(b) Pratyaksh
(¢) Vikalpa (d) Agati,nas ’
Use the codes given below for correct answer.
(1) a,b, care correct, (d) is not correct (2) b, a, d are correct (c) is not correct
(3)- d, ¢, b are correct, (a) is not correct @) c,d,aare correct, (b) is not correct
URISTRT B SFTEAX T3 37 wepre & ,
(©) orgam () s
() Trepeq () emry
aﬁw%m:ﬂaﬁqnﬁ?@ewmﬁl
M) g =i, & g9 ¥, (é?)ﬂ'aﬁﬂﬁ%@)%ﬁ, T, & wE B, (@) 9 w2
(3) &, &, @ ¥ g, (v) =& =& & @) =, 3, T, () w2

Which of the following data-gathering technique is not used in case study ?
(1) Observation
(3) Measurement (4) Personality Inventory

%Eﬁﬂmﬁﬁ%ﬁ%mmﬁ

Frar o & 7 TB-I6 BT ITGRT F&F
(1) STaesT (2) GRIEHR

(3) =9+ @) =fRea g=h

What is the major attribute of Correlation Analysis ?
(2) Difference among variables

(2) Interview

(1) Association among variables
(3) Regression among variables
qedsy fqeaisor &1 g Ior || e ?

(1) =X % &g d@aw (2) W B 9= ¥
() T % " wfEEE @) = B d= R

(4) Variations among variables

P.T.O.
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83.

85.

What is the name of the conceptual framework in which the rescarch iseamried'out 7
(1) Research hypothesis

(2) Synopsis of Research

(3) Research paradigm

(4) Research design
39 T o &1 9w © Red e [ S ® 2

(1) ST 9iRemeqT
(2) M H R
(3) MY wieE™
(4) sirer fEsmgs

The format of thesis writing is the same as in :

(1) Writing of Seminar, and thesis representation

(2) Preparation of research paper/article

(3) A research dissertation

(4) Presenting a thesis for a workshop/conference paper
AR e H ST 98 ® S gEd R e

(1) ST 1 dEE, o =fifE iR

(2) 2T 95 ,/AW JIR HHAT

(3) TH M e

(4) prETRT/FHEE 9 F e SifeE sRga B

What is the main aim of interdisciplinary research ?

(1) To over simplify the problem of research

(2) To bring out the holistic approach to research

(3) To create a new trend in research methodology

(4) To reduce the emphasis on a single subject in the research domain
IicT-faea e FHT g WY 4T B ?

(1) 9NeT B FHET B AP T 7=

(2) 9T & T q9U ReHIOT A v o

(3) 9T gy & @H A3 99T Yo1 BT
(4)maﬂﬁm@ﬁquﬁwm%m

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)
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87.

88.
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What does a £00d thesijg involye 9 )

(@) Reducing py i
€ Punctuations as ye) a3 grammatica] ini
(b) Correct reference Citations el

(©) Unwell defineq abstract
) Consistency in the way of the

Sis writin
Select the answers from the codes given belgow :
(1) a,candd (2)b.
,cand d
3) a,band
3) andc (4) a,band d

TH TR AR F F v @ 2
(Q)ﬁmﬁﬁ%m—mwmmghﬁaﬁmﬁzmm

(GUEISIC I T Do

(S Nferw Rrem 3 763 F gy
ﬁ%ﬁqw@ﬁwgﬁm:
D) g, & dIx &

3 T, &t iR @

@) 9, @ oir &
@ T &t iR &

The process not needed in experimental research is :
(€Y} Controlling (2) Observation

(3) Reference collection (4) Manipulation and replication
SR STgEe™ § R bk 3 masawar € O 2 as §
(1) FerisreT (2) SraeiH

(3) a9t Hme (4) BHT SR vy

Where a null hypothesis is accepted, the observed effects could reasonably be
attributed to:

(1) Differential Treatment (2) Random Sampling

(3) Chatice Bactor (4) Precise Instrumentation
aﬁ@wwﬁwm%mmm%,aﬁ%@wmﬁ
Telifer w9 & RPN SEEn S @ 8

(1) FdEs STER ) YA w

i T i (4) T SegAeA

P.T.O.
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89.

90.

91.

The questionnaire in which sequence of questions is followed is called :
(1) Disguised (2) Undisguised

(3) Structured (4) Un-structured
mmmﬁm%mmawmw%,mw%:
1) s : ) Sffa=

(3) Ef= (4) orEfEa

The main elements of a dissertation are :

(1) Introduction; significance; Literature review; Data collection; Data analysis;
discussion, recommendations; Conclusions, bibliography.

(2) Executive summary; Literature review; Data gathered; Conclusions; Bibliography.

(3) Introduction, significance, literature review, Research plan; Research data;
Analysis; References.

(4) Introduction; significance; Literature review; Research methods, discussion;
Results; Discussion; Conclusion.

TH i ey B ger ad § -

(1) 9= #ea wfe™ @ e ofibsT duseT S AW ==, RIGRS)
fepel, T g=

(2) HHEBTT RIS Hiiew H1 qHfe SeT wbst fear Tan P s g

(3) U=, Hew, Ao qHiE, Y eET i 39T Ageser ey )

(4) 9R=E; wed At & T oduN & a0, T=t 9Rem REr - st
e |

Which of the following body actions can be cited as an action of the second class lever ?
(1) Blinking of the eye

(2) Opening of the jaw

(3) Jerking the knee

(4) Pointing the index finger

W@aﬁﬁmmmﬁ%ﬁaMWaﬁﬁm%mﬁm

femaT oI HehaT B 7

(1) A= BSHT

(2) SIS BT Gl

(3) geit 7S

(4) TSt B SR BT

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(C)
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(1) Chew food we

(3) Express our emotiong @) Move jaw in various wa

e B =T T AR e (4) Perform facig| movemenytz
(1) &1 o=t %8 ey gy - '
3) AT ARTH Bt ey BT

Skeletal deformities which le

ad to 0 .
(1) Shoulder, arm and hangs Poos g’)sf;re 1(" ls)port : .
(3) Knees, elbows and ankles eck, back and pelvis

- 4 -
BB B RGN AT F e T ;‘,’f) \f%ngl%mgffe‘

2) ™9, diT i sy
@ T3, =i oir
port, only fe 1 :
(1) Cardinal Traits ; s Soekersi s
(3) Secondary traits (4) Prim i
ary traits

m@mé%m,m@m%w%:

FRIoT

According to Gordon All

In case of obesity going beyond manageable proportions the last resort will be to :
(1) Strengthen one's willpower to reduce weight

(2) Go in for surgery as therapy

() Use weight-reducing medicines

(4) Put stress on physical exercise

Al B e ogu @ R WY B me ¥ offw gur 9

(1) TS B FIA & FT ARK B Forg HIAT

(2) Ffeear & w9 F wg Rafear & R s

(3) a5 F9 HW aAwd T@wAT BT TERT FAT

4) TR® =Em 9w SR 3

To which of the following options do individual respondents, focus groups, and panels
of respondents belong ?
(1) Primary data sources () SeCOﬂ‘;a(‘j'Y tdata sources

i (4) Pointed data sources
(3) Itemised data ;%urces . o B S PreRed 3 @ R
fepeq | wafo 8 ?
(1) st 3e1 @ (2) felrs Sa1

(4) S B W

(3) Tgaw a1 |91
P.T.O.
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97. If the probability of hitting an object is 0.8, find the variance :
A el g%y § = @ wiRrear 0.8 B, @Y SEROT S B
(1) 0.18 (2) 0.16
(3) 0.14 @) 0.12

98. If covariance between two variables is 0, then the correlation coefficient between them
is :

(1) Nothing can be said (2) Negative
(3) Positive @) 0
e q =R B N FewwERer 0 2, O B S geddy OIH B
(1) ®® &1 FHBT 51 gHar : (2) THRHB
(3) IhHRIHE 4 0

99. Which of the following is a measure of dispersion ?
(a) Range (b) Standard deviation
(¢) Arithmetic mean (d) Variance
Use the codes given below for correct answer :
(1) a, b, ¢ are correct (2) b, ¢, d are correct
(3) a, b, d are correct 4) d, ¢, a are correct
frrfeRaa & @ @9 aiR@9er @& 719 2 7
(@) I () a1 f=eT=
(&) SfepTorT Ared () =
el 3] @ o e Ru 1@ HE &1 A o
(1) @, &, & a& 8 2) =, &, <t v &
@ w @, ST Edr g @) &, &, T Hd B

100. Which of the following methods of establishing reliability of a test is quiet time scoring ?
(1) Test-retest (2) Split Halves
(3) Analysis of Variance (4) Co-variance
up gerer # [qeaasaar @iftd w9 & FeERiRaa § 9 @ o R/t o
qHg WHIT B 7 ;
(1) e=-{e= (2) fawfsa amen
(3) TEXOT T fageisro (4) d8-gEor
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1. If a student studies and practices hard with enjoyment and interest, it is known as :
(1) Emotional engagement (2) Cognitive engagement
(3) Healthy adjustment (4) Behavioral engagement

g% Bz BE AMe IR SR $ GrRI Hiow eggd 3N T &Il &, ol 39
39 @9 H ST ST 8

(1) dAEIHS I3 (2) GFNTH SE

(3) @EI gHEISH (4) FIEIRE IS

2. When not catching a ball, your hand knows when to grasp because :
(a) Your parasympathetic nervous system is active
(b) Alpha waves are being generated by your brain
(c) Participating muscles receive efferent signals from the brain
(d) Afferent signals inform your hand that the ball is about to make contact
Use the codes given below for correct answer :
(1) a, b, ¢ are correct (2) b, ¢, d are correct
(3) d, ¢, a are correct (4) a, b and d are correct
g B AT UHSA GHIA, DT SR AT 8 % Ha ghsAT &8 FHih :
(T) et JuRTAAfes s o afba 8
(i) srewr aGT HAGS ARTSHF ERT I~ HI ST Tl &
(&) AFT A9 el HiRET S ARkasp | S9aRl Hohd U< 8 &
(&) R Gha AT B B G @ § B AT g9 B a2
g IR 3 g A= R T 2 %1 wgGer w3
(1) ©, &, & ¥ 8 (2) &, i, < e §
(3) S, 9@, T "el & 4 g, &t IR 31 9 B

3. Social criteria of problem selection lays down that the problem to be selected must :

(1) Benefit people in general

(2) Add feather to researcher cap

(3) Be original and unique

(4) Improve existing practices

I TG99 & dEiSie "Fes MEiRd v € B gwer & 99e R S
=iy -

(1) 99 &9 9 F1 i A 6l

(2) TEERAT ST H 9E S

(3) g1 3R offecia =+

(4) HrsgaT wemed § gur

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D) P.T.O.



archer should b
(2) Key issues of the topic
(4) Procedures to be adopted

While defining a problem, the focus of rese

(1) Study's importance

(3) Evidence to be examined
ol T @1 ORI B 9, gerepal 1 &
T =T :

(2) fawa & T 1o

(1) SeFg=T &1 AeA
(3) si= & g ad

In science and research "facts
(2) Approximations of truth

(1) Gospel Truths
(3) Fundamental laws (4) Trrefutable ..
ﬁaﬁaﬁaﬁémﬁﬁaﬁ%ﬁﬁw%maﬂ‘aﬁ?ﬁwm ?
(1) gEAER | (2) T &1 AFA

(4) 3THIHA

(3) Hfcid BT
What is considered foundational to fitness for life and sport ?

(1) Body control and neuromuscular coordination

(2) A body free of genetic defects

(3) Physical and psychological maturity

(4) An intense desire to develop and train muscles
Weﬁr@a%mﬁwﬁﬂaﬁrmwwm%?
(1) erér ux feriEor R Ega FHad

Which is the longest race contested at the Olympics ?

(1) 1000 m race
(2) 10 km race

(3) 50 km walk race

(4) 20 km walk race

ST § Gad ot A and B d gk 8 7
(1) 1000 =X 218

(2) 10 9T S8

(3) 50 fepet Yot 153

4) 20 B Y5 <

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)

¢ on determining the :

# FERer W

(4)mﬂ1§aﬁaﬁﬁmﬁ

" Jeading to the formulation of theories are regarded as :

10.

3

Cr)fokinetics, which include ice massage, ice and cryo- packs, ice immersion cold
whirlpools, commercial gel, chemical packs etc., is used :

(1) After an exercise session

(2) Prior to an exercise session

(3) During an exercise session

(4) Between competitive games

HRBACR, Srad 9% =ik, 9% oiR HE-3% 21 H
i U i i Tl Bl Bk
(1) =™ 9 & 9%

(2) =A™ 99 9 98

3) =E™ T B A

@) aRrerft @t $ <

The most effective method to deal with muscle tears and strains is to :
(1) Apply medication at once

(2) Rush the casualty to a physician

(3) Never allow the muscle to get weak

(:1) Stop the affected muscle working until recovery

HIHURMET & wed oR Rium @ Fiaes & 99 g9E adiT 2 -
(1) T I} & &1 @

(2) saEd H FAfeEs S 99 @ AT

(3) ATHIRET B FH FAIR T B F

) 36 BF T g AIEARET H B HET g7 HE

When an after injury, an athlete continues to limp for some time, it forces him to :
(1) Use the wrong muscles .
(2) Exert pressure on the tendons

(3) Tighten the ligaments

(4) Stress the joint involved

(1) eI =wigaRET &1 g4

(2) ¥TET W TEE STAAT

(3) EgEYT B BT

(4) A S H qEE 3T

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D) P.T.O
. T.O.



11.

12,

13.

D

tal muscle is facilitated
During exercise, non-insulin mediated glucose uptake by skele
by :
(1) A fall in blood insulin concentration

(2) A fall in blood glucose concentration I
(3) Increased insertion of GLUT4 receptors in the muscle fibre -
rtion of GLUT4 receptors in the muscle fibre mem

TeRET I IS B

(4) Decreased inse ‘
W%W,Waﬁmﬁsﬁmﬂ?—s@%ﬂaﬁ
forE® &RT W a9 S © 7
(1) b PR wehnEl F FREe
(2) TH A H Fisar F FREe
(B)Wﬁsﬁwi%ﬁ?ﬁﬁGLUT4ﬁﬁ'€ﬁWW§aﬂHW

(4)msﬁWWﬁGLUT4ﬁﬁeﬁme

Skeletal muscles are the target organ of the :

(1) autonomic nervous system

(2) somatic nervous system

(3) sympathetic nervous system

(4) parasympathetic nervous systcm

FpiT URTET @ed OFT € ¢

(1) @ e T

(2) afeep dfEer o

(3) Fg=yafess fErepr o=

@) FuRrRAfees dfEeer I

A typical value for the respiratory exchange ratio at rest is :
TR & gaee T ST % O fafine 7 B
(1) 0.58 - 0.60

(2) 0.68 -0.70

(3) 0.78 - 0.80

(4) 0.88-0.90

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)

14,

15.

16.

17.

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)

Which answers are correct ? The lactate threshold :

(i) Represents the point at which blood lactate begins to accumulate above resting
concentrations during exercise of increasing intensity

(ii) Represents the point at which lactate production exceeds lactate clearance

(iii) Occurs at a represent lower power output after endurance exercise training

(1) ionly (2) iandii

(3) 1, ii and iii (4) none is correct

P H IR G ¥ ? dee A

) 39 Fig @1 s wxar @ B ) ged dea @ o @ A
SR FiFAT § $HIX ST 8T i & orr 2

(i) 37 &g F1 ARl a7 @ B = e saee e R § o

& ST @

(iii)ﬁa‘mm%aﬁmsﬁ%ﬁquﬁﬁmm%

(1) I i (2) i 3 ii

(3) i,ii 9 iii @) ®5 §r & T ?

During the later stages of exercise pulmonary ventilation is matched to the metabolic
demands of the exercise primarily via feedback from :

(1) Mechanoreceptors (2) Nociceptors
(3) Chemoreceptors (4) Photo receptors

TEAE & G B TN H SR dfedte™ g w9 & Frefaiaa gRiEsar
® AEE § AEE B eEeET 96§ 89 @ 2

(1) FBNRA=T (2) R@=T

(3) PIRA=Y @) wrEr ey

‘Which of the following shows ATPase activity during muscle contraction ?

(1) Actin (2) Myosin (3) Troponin (4) Tropomyosin
ARG B HgET B AR FrRiad § @ B ATPase TR #Y agiar & 2
(1) Tfers (2) "N (3) A= (4) SIERNR

At touchdown in walking the knee is normally :

(1) Slightly flexed (2) Fully extended

(3) Fully flexed (4) Slightly extended
TISIT W =7 § geor W w9 | 86T ® -

(1) &nsT Trelien Q) W & | RamRa
3) @ & | = (4) =sT TgT ga

P.T.O.
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Muscles utilized for controlling the flow of all substances within lumen are grouped as :
(2) Unstriped muscles

18.

(1) Fussiform muscles
(3) Straited system (4) Heart muscles
@ﬁq%ﬂﬂﬁrwwﬁ%m@rﬁdﬁﬁaﬂ%%%ﬁmﬂaﬁaﬁaﬁﬁ

ATEARET Fr g6 wHR FH Fen T E :
- (2)%&%%%

(1) wrEfwn ArRaREt ;
(3) ws e (4) T=a W AEURET

19. Technique of ossification of bones of right hand is used to determine :
(1) Height (2) Weight (3) Age (4) Equilibrium ability
mﬁmﬂs@ﬁ%aﬂmﬁﬁmﬂaﬁ%wﬁwzﬁﬁ%mmﬁﬂ
frar T ®
(1) S= (2) T (3) og (4) G e

20. Movements possible in condyloid joint are :
(1) Flexion and extension, planter flexion and dorxi flexion
(2) Circumduction, rotation, hyper flexion and hyper extension
(3) Flexion, extension abduction and adduction
(4) Flexion, extension, abduction adduction and circumduction

(3) e, R qERT X TSR :
(4) TR, TR, TS GSRE ST

21. Which of the following is not an advantage of sampling ?
(1) Sampling saves time and money
(2) Sampling cannot be a substitute for census
(3) Sampling saves labour
(4) Sample coverage permits a higher overa

enumeration.

PrefeRae § @ B a1 TYAT A H @rd A6l 8 7
(l)wﬁﬁﬁwaﬁtmaﬁmzﬁ?ﬁ%
(2) TGAT = SO T Rrehed FEl 8w
(3) T @1 § ¥T @ g=d exil B
(4)2?%W3ﬁmaﬁgamﬁ‘aﬁtwwaﬁwﬁmﬁwﬁ

Il level of adequacy than a full

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)
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22. The graphic method of studying dispersion is called :

23.

24.

25,

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)

(1) Jcurve (2) S curve

(3) Lorenz curve (4) Scatter diagram
AREATCT F eI B MipH AR HEar B

() & % (2) T3 =

3
3) AR 9% 4) e IRT

How to make the no Conceptual Framework ?
(1) Decide on what will be your research

(2) Review not relevant
and updated research on th
' e th i
after scrutiny of the issue at hand et

(3) Isolate the important variables

(4) Generate the conceptual framework
Tt FAgeT Baae B T T 2
() T %< fO6 9eB1 9 =7 2Ry

(2) 39 AT 9 AR o sEEE oy gutar
aﬁm%mmmﬁmﬁv‘r&r%ﬁ;ﬁ aﬁ,mwamsﬂgé

(3) TEEYrEl =% B ST HE
@) d=R= Tien AR B

Ultra Microscopic viruses are the main cause of -

1 .
§3; II:/I/IaJana (2) Measles
o umps (4) Cholera
e faury fpes g weer ¥

(1) =R (2) ==
(3) HoSHmT @) B
The "Corona" In coronavirus means :
1
(1) Sun (2) Beer
(3) Crook 4) Cr

own
PIRTEAEE § BT @1 oref B -
m g () d=x
(3) (@) T

P.T.O.




26.

27.

28.

pamty :
14 Ould ha (3 t.he ]eaSt cffect on musc a
W lllCh 0[ the i()ll()Wlll W \' le an el()] )1C Ca

(1) Resting muscle PCr concentration .
(2) Resting muscle glycogen concentration
(3) Muscle glycolytic enzyme activity

(4.) Musc'leq‘;uffering capacity o i ot G 7

i FrefeT BT
(l)mmaﬁmﬁs’ﬁ ‘
(2)amaﬂﬁaﬁﬁqmﬁsﬁwzﬁma%=m
(B)ﬂﬂﬁsﬁmﬁfﬁaﬁﬁzﬁwﬁﬁfﬁ
(4) TiIEQLN BT &

i scle PCr stores
In a sport such as soccer or rugby, the energy required to restore mu

following a short intense sprint is derived from :
(1) The high-energy phosphate system

(2) Anacrobic glycolysis

(3) The oxidation of muscle glycogen

qfam(4) A“o;m;z;ogﬁ@aﬁ, wﬁﬁﬁﬁ%ﬂ@ﬁm@?eﬁmaﬂﬁ%m
amwﬁqmagaﬂaﬁsﬁﬁmﬁ:@ﬁﬁwém%.

(1) S-St FIEHE TOTRI

(2) oA AN

(3) wiEdeh TEDHeT B AT IBLOT
(4) SUI<H |l

Which of the following would have the 1

of a muscle ? .
(1) An increase in muscle PCr concentration

(2) An increase in muscle Na+/K + pump capacity

(3) An increase in muscle buffering capacity .

(4) An increase in muscle glycogen concentration
HARE! B ST TR aeT WX e q
(1) miaRel TRfeT d@wser § s

(2) wiauEt § gia Na+/K + 99 &Hdr

(3) HIFARTET @ aBReT amar § I

(4) TRl wEHe FHwol 7 IfE

cast effect on the maximal anaerobic capacity

fpeHT SHE Ta9 & BRI ?

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)
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29. Sprint interval training has becn shown to result in :

30.

31.

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)

(1) Decrease in muscle glycogen content

(2) Increases in maximal muscle oxidative enzyme activity
(3) Decrease in maximal muscle glycolytic enzyme activity
(4) Both (2) and (3)

foie o aReTer § qRems Reamr o -

(1) wigaRft g aFel § o9

(2) sAftrpa #iEdeh srESfed domgw Afafafr & gRx
(3) et ATt ATEFIeTRieE doEH TfaRRr ¥ w5
@ 3 (2) o (3)

Which of the following training sessions would result in the greatest decrease in muscle
glycogen concentration ?
(1) Four 30-second sprint intervals (total exercise time = 2 minutes)

(2) Six 30-second endurance intervals at 100% VO, max (total exercise time = 3
minutes)

(3) 4 minutes of continuous exercise at 100% VO, max

(4) 60 minutes of continuous exercise at 75% VO, max

FrafeRea & & e aReror @ & aRomreasy wigdsia wEseE gEar §

I A ot o ?

(1) =X 30-8%s fie siaae (ga @@m g99 = 2 Be)

(2) 100% VO, stftrmad (fe =a@™ @99 = 3 BFe) W B8 30-A%Hs oR
HAT

(3) 100% VO, HAfepes 94X 4 e w1 Fiax =y

(4) 75% VO, SAftepad 9 60 e %1 e e

The repeated pulling of the Actin over the myosin is often known as the :

(1) Power Stroke

(2) Replacement Mechanism

(3) Ratchet Mechanism

(4) Repeated Mechanism

TN & SUX uffed & aR-aR R H TR BhEd w9 & oty oar & 2
(1) dfax &6

(2) SRR &=

(3) e =

(4) g o

P.T.O.
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32, A deductive theory is not that :

33.

34.

(a) Allows theory to cmerge out of the data .
y defined hypothesis

ting an explicitl
(b) Involves testing p k of knowledge

(c) Allows for findings to feed back into the stoc
(d) Uses qualitative methods whenever possible

Use the codes given below for correct answer.
(2) a,candd

(1) a,bandc
(4) d,candb

(3) a,bandd

s P i g8 @ 8 %
(q)ﬁaiﬁa%@aawﬁzﬁaﬁaﬁaﬁqﬁ%m%
(ﬁ)@wwﬁqﬁmﬁﬁqﬁzﬁqmzmqﬁmaﬂﬁa%
(Fﬁ)ﬁsﬁﬁfﬁm%ﬂ?ﬂﬁmq&saﬂ%aﬁaﬁqﬁﬁ%
(ﬁ)mﬁﬁwﬁwaﬁaﬁmmm%

a8 oox B R A9 R g g HB AR BT

(D) §, &t ok A () @, T 3R =1
(3) §, & IR & @) &1, @ I @t

Data, which are so vital to all kinds of research, are a representation of :
(2) Processes

(1) Facts
(4) Organism

(3) Reality
é‘a,whwﬁw%aﬁué%qagﬁqmqﬁ%,wqﬁﬁf@lﬂm%%:
(1) T (2) SRS

(3) arIfereRaT (4) ST

The sampling method chosen when the members of a special population are difficult to

locate is :
(1) Availability sampling (2) Purposive sampling
(3) Snowball sampling (4) Convenient sampling

o R Tl @ Haedt HT OdT AT giEehel BT B, a9 g T T

faier & -

(1) TUCTERAT TATBLOT (2) SBEYel FLAHTT
(3) FET THATRIOT (4) gfaersi=e AT

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)

35.

36.

37.
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Research focused on determining how education works by testing conclusions related
to theories of communication, learning, performance and technology is :

(1) Theoretical research

(2) Empirical research

(3) Analytical research

(4) Evaluation research

FER, e, yeei ofk Menfehr & fyiat & efera Frepst &1 qdierer s
ReT 8 0 FEH ¥, 7w FuiRa 5 ) s 9w D

(1) q=ifas sy

(2) SIS M

(3) RIS oy

(4) TEAHT M

Which of the following test is used when inference is to be drawn ?

(1) t- paired test (2) t- unpaired test

(3) z-test (4) Analysis of Variance

bt Freprer & fore Frfeiaa & & f5g qeToT B 9T BeAT ST © 2
1) S-gfaa adeor (2) T-gfaa glieTor

(3) Sis-Tw 4) F=ReT @ fasder

Correlation is a statistical technique which can show whether or not and how strongly
pairs of variables are :

(1) Separated

(2) Distant

(3) Related

(4) Compared

HeHds oh Hiasm aaiis B o0 fRer @t & B o @ ar vl ofk frash
@A RPN E:

(1) et

@

(3) gt

(4) ger

P.T.O.




12

38.

39.

40.

D

inati sampling
The statistical measure which is generally applied for the determination of p
error is
(1) Variance
(2) Range
(3) Mean
(4) Standard deviation
Fifeada AT S SAHAC T
(1) fe=rTeT
@ =
(3) =
(4) "= =

W@%mm%%ﬂwm“ﬁ%ﬁ%:

i i items is :
The mean which stands for relative importance of the different

(1) Arithmetic mean

(2) Weighted mean

(3) Geometric mean

(4) Harmonic mean y .
e Het @ G FE S axl| awr A
(1) 3imTor AT

(2) wiea A

(3) S ATEA

(4) =TS AT

The Nth rest of the product of N items or values is :
(1) Arithmetic mean

(2) Wcighted mean

(3) Geometric mean

(4) Harmonic mean ‘

N #<1 a7 5T @ JerEhe & Bdl 99 ©

(1) SR A

(2) wiika oA

(3) ST AT

(4) BMEISH HET

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)
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41.

42.

43.

45.
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No variable in a research study may possibly be measured unless the rescarcher gives it
a/an :

(1) A hypothetical basis (2) Descriptive explanation

(3) Independent evaluation (4) Operational definition

TH T eI F R o oRadt w1 qq @ AT 98 o7 Gwdl o9 a6 B
el 59 & 3

(1) T Bl s (2) I°FTHS AR

(3) @@= gerisp 4) gR=Te= OfwTsn

Which of the following can be no subjects of a research study ?

(1) Objects (2) Events (3) Concepts (4) Humans
Frfafed & & S ab sl ot @1 fag a9 @ qhar & 2
(1) a&gQ (2) "= (3) JTEYReNg 4 73

According to the probability theory, a sample is nothing but a(n) :

(1) Purposive Sampling (2) "Little replica” of the population
(3) Biased Sample (4) "Cluster" sample

IRAT i & oTgaR, U AT o} Hw =4df afes 2

(1) SEayel TgsmEhor (2) STTEEAT # "SI AfBR”
(3) gagwil T (4) "eRTEX" AHAT

Measures of Central Tendency enable the rescarcher to :

(1) Compute advance statistics

(2) Compare groups on their performance or particular characteristics
(3) Make realistic inferences from the computed data

(4) Differentiate good from bad

B4 SGRT B A9 MeEpat B T T E

(1) 1R offmst & ToFT H
(Z)H@ﬁmmﬁqmﬁﬁﬁﬁé‘rﬂmﬁwwmﬁ
(3) T fPY T SeT ¥ TurlwY frepy R &

4) o8 § R F X F o

Our common sense tells us that with more variation caused by experimental factors the -
(1) t- ratio will be larger (2) t- ratio will be smaller

(3) f- ratio will be larger (4) f- ratio will be smaller

FART HMF S B At ¥ 5w sRat $ prer it Rrerar @
T -

(1) S-3rgurT =137 &F
(3) TH-STIURT TST BT

(2) -orgur Bler Erm
(4) TH-ITU BleT B

P.T. O.
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46.

47.

49.

50.

A comprehensive test used to diagnose sleep disorders :

(1) Sonomammography (;’Z‘) };z)lysom"ﬁg‘;ggy

(3) Sonograph (4) Manosom '

Wﬁm%a%yﬁm%mmmmﬁwwmﬁmul g

(1) SR )

(3) | (C))

Name the most valid form of evaluation :

(1) Hunch-based (2) Calculated-guess bz?seq

(3) Rational approach based (4) Well-established criteria based
T & g9 A © &1 A TARy -

(1) go-amnia (2) IR~ ST

(3) THETT gREHIOT AT 4) sr=h IE@ AT AFGS ST

The most direct method for measuring body composition is :
(1) Underwater weighing (2) Skinfold test
(3) Body mass index (4) Weight

IR TEET B "R B gead goet fafr @

(1) 9=t & = *1 g5+ (2) Rep-ipies T
(3) =<l 79 g8 @) Tt

Survey research is cross-sectional and as a result, it is :

(1) High in internal validity but low in reliability

(2) Low in internal validity but high in replicability

(3) Low in ecological validity but high in internal validity

(4) High in ecological validity but low in external validity

FdaToT STIHH HE-GHE & oI} 3HS IRVIEEY, T8 T
(1) oTidi Jear § I=a Qe fAgaa-iaen & &5

(2) i Jerr & w9 A ufphy & 3=

(3) umikferferes dean & &7 AfBA oT® Juar & I=

(@) aifeefrs Juar § 3= AR el Juar 7§ &9

Which of the following is a criterion for a good research question ?
(1) Questions should be long and use complex terms

(2) Questions should show where my research biases arc

(3) Questions should sound contemporary

(4) Questions should connect with established theory and research
U oTEB g Sed B fau Frefiiad § § $9 91 9eEs © ?
(1) w99 &9 BN =few X Sifed &T HT TR HIAT =1l
(2) 59T @ @ anfge % A o gatus #ef &

(3) 999 THEBRIN T4 =AMy

(4) 999 TUT fa=ia o v 4 S 8 =eu

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)
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51.

52,

53.

54.
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Which of the following statement is correct about Cerebellum ?

(1) It regulates the muscular movement for locomotion
(2) Itis not a part of brain

(3) Itis apart of spinal and crania]
(4) Irregular the muscular movement for loc i
omotion
ﬁﬁﬁm%ﬁﬁmﬁﬁﬁqmwm%?
(1)Ww%mﬁmnﬁr@rﬁ#aaw%
() 7& "RaT=H B " TS 2
G) 7E d% & & IR Hur F o o
@) Suw B R A9 Ry @1 stmfg S

A microscopi i i
A : opic gap between a pair of adjacent neurons over which nerve impulses pass
when going from one neuron to the next is called 2

(1) Neurotransmitter (2) Synapse
(3) Axon (4) Dendrites

ST~ T B OF I B e wF ged ofax BT 93¢ =
ST X AR SR TR ¥, S wer o @ - R

(1) =giaex ) Ry
(3) TR 4) Sgrew

What sort of circulatory system is the human circulatory system ?
(1) An open circulatory system

(3) Both ({) and (?) (4) A double circulatory system
AT IREEROT G e 96R #1 aREET 9 2

(1) % Fell §9” gomett (2) T THT AR Somed
(3) THT (1) 37 (2) 4) ©H B8 A gomed

In coronary heart disease, what are the fatty deposits on the walls of the arterics called ?
(1) Plaques (2) Platelets .
(3) Plasma (4) RBC and WBC

BRI g&d W7, TAFET b1 AR O ST )y Y 94 By sy 2

(1) <= Q) wiesew

(3) A (4) AR AR sy

(2) A single circulatory system

P.T.O.



i hron ?
" untered as blood interacts with a nep!
- 2) Collecting duct 1
Distal convoluted tubule
. fopg EXEAT BT AT HIAT

55. What is the first structure
(1) Proximal convoluted tubule

(3) Glomerulus

gsar 8 ? gt FT
SISER! @) =%
g;wqwgma'm (4)@3“““:'%

56. The urinary tract consists of which of the followulfe 'ihra
(1) Two bladders, two kidneys, two ureters, oncure o
(2) One bladder, two kidneys, two ureters, oné .
(3) One bladder, two kidneys, one urcter., two ur e
(4) Cannot be determined without knowing the?su ]
o oo & Prefeied § @ B A BT B 7
(1) & TERM, aﬁ,ﬁwﬁ,@w
(2)@@1%,3?3%,%@1%:&@@
(3)@W,ﬂﬁ,@aaaﬁ7ﬁ,ais;2mm
@) Frwa & F1 o= B FeiRa @l

9
57. Which product, secreted by the kidney, helps regulate blood pressure
. (1) Renin (2) Cortisol
(3) Aldosterone (4) Antidiuretic hormone s
Rrsi T Gifad N 97 IR WHET & AR B deE BT 8
(1) = (2) WA

(3) TR @) dasEgRies EMH

58. The rabies vaccine :
(1) Is alive vaccine . B '
(2) Is cell cultured, freeze dried and reconstituted prior to administration

(3) Is a polysaccharide vaccine derived from culture on human diploid cells

(4) Cannot be given to breast feeding mothers

AT BT R

(1) T S <5 2

(2) a1 A GEEEH, BT F1ES AR FharaaT F umw qifea fear o 8
(3) = T HIREERT W SR & W< u IeihaEs S S

(4) TEIE BT AT ATRA B TE R s gy

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)
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59. Which one of the following is not the proved effect of Meditation ?

60.

61.

62.

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)

(1) Decrease stress
(3) Normalies blood sugar (4) Increase cortisol
ﬁ%ﬁ@%mwwmmaﬁ%?

(D) T T Hrar ¥ (2) TTHET B TGEFT HET B
G) TH T B T H R (@) BT TgEr B

(2) Normalies blood pressure

The Pramanas according to Patanjali are :

(a) Anumana (b) Pratyaksha

(¢) Vikalpa (d) Agama

Use the codes given below for correct answer.

(1) a, b, c are correct, (d) is not correct  (2) b, a, d are correct, (c) is not correct
(3) d, ¢, bare correct, (a) is not correct (4) ¢, d, aare correct, (b) is not correct
TSI B SAFER JHT 56 T E -

() s () i

() frepeq () e

TE I B e 2 Ru 1w gz @ og@w 57

M w, &, @ a9 & (&) @ 75 T ) &), T, 31 wEl g, () g 7 2
G) 2, @, FEE, (v) " wE @) 3, T A, () 9 e 2

Which of the following body actions can be cited as an action of the second class lever ?
(1) Blinking of the eye (2) Opening of the jaw

(3) Jerking the knee (4) Pointing the index finger
W@aﬁﬁﬁmmﬁﬁmﬁmaﬁﬁﬁm%aﬁwaﬁm%wﬁm
o s wepar B 7

(1) ¥iTE weHT () STa8 &1 Gerew

(3) g5 "= (4) aot B AT wH=

Muscles that are attached to the skin of the face allow us to :

(1) Chew food well (2) Move jaw in various ways

(3) Express our emotions (4) Perform facial movements

TR B W A AR o gw w3 -

(1) &1 7= axE =9y G () vi98 # AR 98P ¥ fearEr
(3) Ut WEATST W = BT @) I B Hae

P.T.O.
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63. Skeletal deformities which lead to a poor posture in sport :

(2) Neck, back and pelvis

1) Shoulder, arm and hands
© (4) Spine, legs and feet

(3) Knees, elbows and ankles o B
FPr B Rrgfy S A F @xE ga # A A e s
(1) %3, aie oK T @ ™=, 9

3) g2, Feh oA =

64. According to Gordon Allport, only few people possess :'
(1) Cardinal Traits (2) Source tralt_s
(3) Secondary traits (4) Primary traits
Wmﬁé%aﬁvﬁ,m@ﬁﬁ%w%:
(1) e T (2) G Il
(3) wreatHE TRIOT (4) ST TRTT

65. In case of obesity going beyond manageable proportions the last resort will be to :
(1) Strengthen one's willpower to reduce weight
(2) Go in for surgery as therapy
(3) Use weight-reducing medicines
(4) Put stress on physical exercise

ﬁaﬁ%ﬁmwﬁﬁmﬁ%mﬁﬁeﬁﬂmm:
(1) IS HH B & FBT AP BN AL BT

(2) RiftpeT & ©9 & yod fafeen & foe ST

(3) IS HH B il TS BT TR HTAT

(4) SR @@ X SR &A1

66. To which of the following options do individual respondents, focus groups, and panels

of respondents belong ?
(1) Primary data sources
(3) Itemised data sources

(2) Secondary data sources
(4) Pointed data sources

aﬁmﬁmﬁaﬁ,ﬁwwﬁaﬁmﬁﬁwmﬁﬁﬁﬁﬂ

frpeT @ gate E ?
(1) STeItHe ST 9 Q) f&dms 3 9
(3) Aeg= 31 9 (4) 9iEes e A

67. If the probability of hitting an object is 0.8, find the variance :

ofg fordl awg & TR & Tt 0.8 B, @ seRer s i ¢
(1) 0.18 (2) 0.16 (3) 0.14 @) 0.12

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)
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68. If covariance between two v,

69.

70.

1.

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)
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; ari i

o ables is 0, then the correlation coefficient between the
(1) Nothing can be said
(3) Positive
qﬁ%aﬁ%ﬁamo%ﬁmo
(1) BB & Fay oy ISEZ |

m

(2) Negative

(3) HHRTHS 8; Oq?Fle
Which of the following ; .
(a) Range € 15 a measure of dispersion ?

(b) Standard deviation
(d) Variance
sSwer :

(©) Arithmetic mean
Use the codes given below for correct an

(1) a, b, ¢ are correct
2) b
(3) a, b, d are correct §4; d, z :::: Sorrect
, €, correct

Z;Tz@aﬁﬁﬁwqﬁawwmm%?
: & IEENG
(&) simiR Ay ésﬁ;i%amm
faﬁ;%mﬁ%ﬁqwa@wmaﬁ:
qQ, I, O g &
(Z)alwl
3w &, S @ =, & j;:;

Which of the following methods of establishin,
(1) Test-retest (2) Split Halve

S
(3) Analysis of Variance (4) Co-variance

TH qlior a5y
o _%?ﬁrsamwﬁamaﬁﬁqﬁlﬁgaﬁﬁﬁwxﬁﬁﬁm

(1) T=—W=
(3) THXET FH fAgdor

‘Which of the following data-gathering technique is not used in case study ?
(1) Observation (2) Interview )’-
(3) Measurement (4) Personality Inventory

%Eﬁﬁﬁ?ﬁf@aﬁﬁaﬁwmﬁwmﬁﬁmquﬁ

g reliability of a test is quiet time scoring ?

2) famisa amen
4) Fe-ggor

P.T.O.
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20 ? 76.  What does a good thess involve 7
72. What is the major attribute of Cmelation(;;arl)};:ferénce among variables (a) Reducing Punctuations as we]] »g grammatical errors to minimalist
(1) Association among variables (4) Variations among variables (b) Correct reference Citations
(3) Regression among variables 57 (c) Unwell defined abstract
weddy faedwer &1 sy o1 = -(2) B (d) Consistency in the way of thesis writing
(1) =X % 9= de @) =4 @ e fEe Select the answers from the codes given below :
3) =X B 9= gk ork in which the research is carried out ? (1) a,cand d (3 b, camd.d
73. What is the name of thc? conceptual frameé) Synopsis of Research (3) a,band ¢ @) a,band d
(13 Rescarch hypot?lCSIS (4) Research design UP T AR F o anfeer @ 2
(3) Research paradigm 3 Foredt it fear S 7 (E)W%@%W—mmmaﬁﬁaﬁmﬁwm
36y 1" B A F1 P — R e
o e (4) 2iver Pt | (Morerer wRw
e s ‘ ST e S i § LRI
74, The formatofthesis witng s hesame &8 1" 13 e 1 5 oo o
(1) Writing f)f Seminar, and them/salrzple | ) 2, & e & &) %, G g @
(2) Preparation of resea.rch paper/artic | & a4 o i e
(3) A research dissertation » )
(4) Presenting a thesis for a workshop/conference paper 77.  The process not needed in experimental research is :
AR e HT AT g8 B S 3EE B (1) Controlling (2) Observation
(1) ST T S, AR SR (3) Reference collection (4) Manipulation and replication
(Z)Qﬁqg:ingm H@ﬁ%aﬁ”ﬁmﬁﬁﬁmwﬁmaﬁmqﬁm%aﬁ%:
8’; ‘::ismwmﬁm % fe iR SRge e (1) Frefror @
75. What is the main aim of interdisciplinary research ? 3) w=+t e @) 3HT &R siferper
(1) To over simplify the problem of rescarch 78. Where a null hypothesis is accepted, the observed effects could reasonably be
(2) To bring out the holistic approach to research attributed to :
(3) To create a new trend in research methodology (1) Differential Treatment (2) Random Sampling
(4) To reduce the emphasis on a single subject in the research domain (3) Chance Factor (4) Precise Instrumentation
Fic:fas 9 WY IR w41 B ? mﬁwwqﬁmmﬁﬁmm%mm%,aﬁa@mmaﬁ
1) S & I B ARE A T : T w7 @ R s o 9wt @
Ezisﬁa%mwmﬁwm : (1) Rries ST=r 2) ¥=9 i
(3) 2 wST F % T gy Yar e (3) T FH @) W Srgrym
(4) 9 & F R0 T B9 W SR wW B R PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D) P.T.O.
PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)
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79.

80.

81.

¢ of questions is followed 18 called :

Q) Undisguised
(3) Structured @ Un-structured

2
qam?ﬁ%ﬂﬁqﬁ%mwawﬁwm%:mw
(1) sres=1 2) fdam=

(3) G @) orETEd

The main elements of a dissertation are :

(1) Introduction; significance; Literature reViC_VV;. Da
discussion, recommendations; Conclusions, bibliography.

(2) Executive summary; Literature review; Data gathered; Conclusions; Bibliography.
(3) Introduction, significance, literature review, Rescarch plan; Rescarch data;
Analysis; References.

(4) Introduction; significance;
Results; Discussion; Conclusion.

s e FEw & e a ¥

(I)Qﬁaﬂqﬁa@waﬁﬂtﬁmmm@amﬁwaﬁ, SRSl
forsped, sier AT

(Z)Wﬁmqﬁwaﬁﬂtﬁaﬂ%mmwﬁﬁﬁﬁw?m

(3) 9=, ™, Hied qHE, giver AT e BT e FIH

(4)Qﬁaﬂ;qﬁ¥r@waﬁwﬁwaﬁ&mﬁ%aﬂ%aﬁqﬁﬂmﬁmt—ﬁmﬁ
ferspe |

Which of the following methods of data, the investigator contacts third called witnesses

capable of the necessary information ?

(1) Direct personal interview

(2) Indirect oral interview

(3) Observation

(4) Questionnaire

Frffem & @ B @ ST RRET ¥, o endvah W B Rie @

e} AT T TEE § @9 B B 7

(1) ST ARPIT HRIEHR

(2) STvge AREH HRIEHIRK

(3) TR

(4) STg=TTaed

The questionnaire in which sequenc
(1) Disguised

ta collection; Data analysis;

Literature review; Research methods, discussion;

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)
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82. Which of the following methods is

83.

P HD/URS-EE-ZOZZ/(Phy. Edu.)(SET-Y)/(D)

(1) Inductive Method sed in empirical researches ?

(2) Deductive Method
(3) Empirical Method
(4) Scientific Method

Which one among the followin
research ?

(1) It recognizes knowledge as power

(2) Itis a collective process of inquiry

(3) Its sole purpose is the production of knowledge

(4) It emphasizes people as experts
ﬁqﬁr@aﬁ@ﬁamwwmsﬁﬂ%ﬁaﬁﬁm% ?
(1) ¥& s & 96 B =7 F gegqmar .
(2) 7® 59 1 uH GHREs gk @

() THH THAH IR S B FORT S

(4) T' AN B AR H =Y F AR a7

The conclusions/findings of which
situations ?

(1) Casual Comparative Research
(2) Historical Research

(3) Descriptive Research

(4) Conceptual Research

e g 3 e B e
ST G R 7 /AT B o Rt & Rie A T

(1) STpRH gemeas e
(2) efRyERys oM

(3) T TS 9w

(4) HHeasTH® ST

g statements is false in the context of participatory

type of research cannot be generalized to other

P.T.O.
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85.

86.

87.

Who is the first woman awarded a Ph.D. in psychology ?

(1) Melanie Klein (2) Karen Horney

(3) Anna Freud (4) Margaret Floy Washburn
e ¥ qoed § g ged AR B 8 7

(1) AT T (2) ®AT BFT

(3) ST HEs @) wFRe A aREs

In which rescarch method manipulation of independent variable and control of
extraneous variables are neither possible nor desirable ?

(1) Experiment Method (2) Ex post facto Method

(3) Historical Method (4) Descriptive Survey Method

fr My gsfy § @ o @1 3BT IR A =X H FEEer 7 a1 d@va
AR 7 & =iy ?

(1) swr ffe (2) T IR B faf

(3) QiceTs fafr (@) ot TS |aeroT Rty

From the following, identify the one which is a theory of management :
(a) The classical theory

(b) The neo-classical theory

(c) The systematic-analytical theory

(d) The modern theory

Use the codes given below for correct answer.

(1) a, b and c are correct

(2) a, c and d are correct

(3) a, b and d are correct

(4) d, c and b are correct

Frfee & @ 39 O @I IBEH HiW S wEeT H R 8
(v) e Ry

(&) sa-smeia i

(F) afea-farcuomEs Rl

(&) oMy Risid

& IR & e e e W e w1 5=er #i]

(1) §, =1 TR & @&r &

2) ©, ¥ iR €1 w&l &

(3) T, 9t IR 1 §El

@) S, & X & wél &

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)
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88. Inresearch good
(1) Discussion
(3) Observation (2) Reasonip
g
e H areh IR R @) Literature search
(1) == i 2 2
(3) STaEET @ 7

89. The chi-square is ope of the most popul
(1) Easy to calculate anq interpret o
(2) Very useful for novices
(3) Applied in most research
i‘::')g Good for testing hypothesis

—THEER HI @R o

(1)mmmmm1@%mw
) MRt B fg T8 Iugeh @
(3) oAferepisr oMy TRy R
@) IRFET B weror B Ry 3|7 B

Which of the following is no major component of hypothesis ?
(1) Subject group |
(2) Treatment or exposure

(3) The control group

(4) The experimental desi gn

Frfeiee & & = oRweT &1 e ges w8 2 7
(1) fre e

(2) STER T Siey

() FE=eT "

(4) um=fE fEomea

9. Progression method can equally be used in teaching the activities except :
(1) Hammer throws (2) Mass physical training
(3) Dance (4) Pole vault
TRfRRET & Reror § sy (Y & @99 9 | ST G S gwe 3 R -
(1) 39X & (2) arffed RIS iR
3) ™ (4) 9 dfee

YPothesig €merge from, -

90.

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D) , P.T.O.
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92.

93.

94.

The super compensation cannot effect of training is due to :

(1) Proper proportion between load and recovery

(2) Directly proportion between load and recovery

(3) Improper proportion between load and recovery

(4) All of the above

G IS AREIT HT THE BpEp HIOT LN & Fbl © -
(1) 9rs IR Repad & G Sfa orga™

2) drs 3R Repadt & @9 e SIguE

() Tz IR Readl & &= sigRa arga™

(4) IUH TN

Overload in sports training relates to when :

(1) The oxygen is adequate to supply the need of the body

(2) The intake of oxygen is insufficient to meet the demand

(3) The oxygen supplying mechanisms are not able to increase

(4) The supply of oxygen is more than required

Qe FRET § AR H e F9 9 © ¢

(1) SAfeRfIoT IR H AR H T HA H G 99T 8
(2) SATRISTH HT Ya= TAT H G B B QT I 2

(3) SiTRAIST # YRS B 9 o F gRs e &1 1 W B
(4) oFteRfio I YRS eTavaRdT § aifees @

To avoid psychological and physical boredom change the methods of training so that a
plateau is not reached during a training session this refers so the principle of :

(1) Generalization before Specialization

(2) Duration

(3) Variety

(4) Specificity

TAE iR NG 9 & g=em & g wReer & alwt d 9eaE B
a5 TH FRET @ $ GRH USR O% W€l UgEl ST 8, U8 FH SBR B
fasia @ d@eifa &ar @ ¢

(1) fafeser & J8s BT

(2) araie

(3) fefererT

(4) iR

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)
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97.

95. What principle of

96.

_ trainip i

week in ord 5 Soes this

e Freque:cryto g6t benefiy, 5 define howy often an athlete should exercise p
(2) Progression Overload

(3) Duration

()] Intensity

27

€r

o TE IRAMT ey 2

D e S e a7 R e
(2) Wiy arfre

(3) 3ImEfy

(4) e

Observation is a method ng data of
oL of collect 1
ey ; o ing dat primary source. An important

(1) Observation is not bias
(2) Interpretation of observed data does not v
fr
(3) Individuals observed may change their be:?;io(r)m FeRon o person
ggufo;i;;i:g of incomplete observation is not there
g B B THET FE FH wh R
i iy Bl 3 UmT @ uw
(1) oraetepT gatue & &
(2) 3@ T 3T H AT TH ARG F gER @R F R T A B
) @ M RS AT TEER TIA THFA B
(4) AT adIBT B GwHET A& B

Tippit table refers to as :

(1) Table of significance

(2) The table used in sampling methods

(3) The table used in statistical proportion

(4) The table used in scientific statistical method

fefe qer @1 ad 2 -

(1) m& 3 qifeTht

(2) TgeTERRoT faftdt & srgen

(3) wifera IrguE & TIH et

@) e wiferT T & g e
P.T.O.
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98. A quick comparison of the mean and the medium will tell you if a distribution of SCoreg

is :
(1) Skewed but to no direction (2) Badly skewed o
(3) Not skewed (4) Skewed and to which direction
e SR Wit # e e e ST S 5 T B B oy
(1) et AfeT +ig e =i 2) g e KT B
(3) Rer <& (4) faeT AR e Rem F

99.  Which of the following statement regarding assumption is not true ?
(a) Assumption relates variables to constants
(b) Assumption relates constants to constants
(¢) Assumption relates constants to Variables
(d) Assumption relates variables to variables
Use the codes given below for correct answer :
(1) a,bandc (2) a,bandd
(3) b,candd 4) d,aand c
OO % Hey § Fraiaiag § & S5 91 HOF 9 T8l 8 7
(T) arom =) @ ReRi®s § gt S 2
(&) =meom ReRis @ ReRims 4 A« &l B
(&) aon =) B e Reris § Hae 2
(31) aRem =X B TX G HElR Hd B
el I B [T | R 10 fHE H5 oaan wR o
(1) T, =it 3T &t 2) T, &1 AR =
(3) &1, & 3R = @) 31, T 3}

100. The major objective of a research report is to :
(1) Enable the researcher to earn a degree
(2) Communicate a set of idea or facts
(3) Proliferate knowledge by publishing it
(4) Stimulate more research on the subject
T e RAIE &1 99E 32T -
(1) SrerRBal i 3 e 9 & 9™ g9y
(2) e a1 q2bl & Th GHE H HGR B
(3) TH TR HIb S BT TR BT
(4) TS 9 AH MET BT AETSd HIAT

PHD/URS-EE-2022/(Phy. Edu.)(SET-Y)/(D)
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